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Section : General Section

Q-1 Find out the two signs to be interchanged to make the following equation correct.
10+10x10-10+10=-89

Ans x 1 -and x
v 2 xand+
< 3 +and x
X4 -and+
Question D 9895803716
| Chosen Option : 2 |
Q.2

The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1.) All owls are horses.
2.) Some horses are hares.
Conclusions:
1. Some owls are hares.

1I. Some he 3 .
Ans 1. Only conclusion II follows.

& 2. Neither conclusion I nor conclusion II follows.
& 3. Both conclusions follow.
4. Only conclusion I follows.

Question 1D 9895803710
| Chosen Option : 1 |

Q.3
Select the option that will correctly replace the question mark (?) in the series.

1% 25.42 A9, ?
Ans Jlf 1 [ ol

X 2. 105
X< 3 05
X 4125

QUEDLiUII 1D . 906990UST7 12

Chosen Option : 2
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Q.4 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts. decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:

1.) All pens are frogs.

2.) Some crows are frogs.
Conclusions
1. No pen is a crow.

II. Some pens are crows.
Ans  of 1. Either conclusion I or conclusion II follows.
2. Only conclusion II follows.

& 3. Both conclusions follow.
4. Only conclusion I follows.

Question ID : 9895803709
Chosen Option : 2

Q5 Select the option that will correctly replace the question mark (?) in the series.

112, 108, 92, 56, 2
Ans of 1 -8
X2 -7
X3 -6
Xa7

Question ID : 9895803711
Chosen Option : 1

Q.6 Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

24

X

Ans

F 0

Y

F 4

v

B |

X
A\

Question ID : 9895803719
Chosen Option : 3

Q7 Choose the odd one out of the given options.




Ans of 1. CEK
& 2. AHI
X 3. DFH
X 4. CFI

Question ID : 9895803699
Chosen Option : 3

Q-8 Select the option that will correctly replace the question mark (?) in the series.

SHO. QIN. OLM, ?
Ans X1 LWV

X 2. LWL

v 3 MNL

X 4. MML

Question ID : 9895803698
Chosen Option : 3

Q.9 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

N

?

Ans

=L

F

~ 3.

v

Question ID : 9895803718
Chosen Option : 4

Q.1 Select the option that is related to the third number in the same way as the second number is related to the first number.

0

22:88::37:?
Ans X 1. 221
X 2 144
<3 169
v 1370

Question ID : 9895803713
Chosen Option : 2

Q.1 Eight friends A, B, C. D, E. F. G and H are sitting around a circular table facing each other for a lunch. A is opposite D
1  and third to the right of B. G is between A and F. H is to the right of A. E is between C and D. Who is sitting between B
and E?

Ans




v
X 2
X 3
54

O oMy

Question ID : 9895803707
Chosen Option : 2

Q.1 Seven friends O, P. Q. R. S, T and U are watching a movie sitting in a row. P is sitting at one extreme end. Q is sitting to
2 the immediate left of S. P is sitting second to the right of T. U is not sitting at any extreme end. O is sitting between R
and T. Who is sitting between Q and R?

Ans X1 Q
X2T
K3 R
vis

Question ID : 9895803706
Chosen Option : 4

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
s Ichthyology: Fishes : : Pedology : ?

Ans X1 Shells

X 2. Names

v 3 Soil

/< 4. Moon

Question ID : 9895803701
Chosen Option : 3

Qj,l Select the option that will correctly replace the question mark (?) in the given pattern.

N

Ans  of 1. 343
X 27
X3 37
X 4 49

Question ID : 9895803715
Chosen Option : 2

Qs'l Choose the option that would follow next in the given figure series.

96| 5| X |E| ?

A B & D E

Ans




v-| 9@

Xa|l O

Question ID : 9895803717
Chosen Option : 3

Q.1 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
6 along the dotted line?

G0)
2%

X

Ans

F 0

X 2

D

F )

Question ID : 9895803721
Chosen Option : 4

Q.1 J.KL.M. N and O are six teachers. Each one teaches a different subject out of Hindi. English, Math, Science, Social
7 Science and Arts, not necessarily in the same order. Each of them teaches on only one day, from Monday to Saturday,
not necessarily in the same order.

J teaches Science on Wednesday. O teaches Math second after J. K teaches on the first day of the week, but teaches
neither Hindi nor English. M teaches English before N and L teaches Arts before . Who teaches on Tuesday?

Ans X1 M
X 2K
vl
X4 N

Question ID : 9895803708
Chosen Option : 3

Q.1




8 Choose the option that most closely resembles the mirror image of the given figure when mirror is placed at the right
side.

Ans
v ‘
x| &)
X
X

Question ID : 9895803720
Chosen Option : 1

Q.1 In a certain code, POTATO is written as AOOPTT. How will BARBER be written in that code?
9

Ans o 1. ABBERR
X 2. ABBRER
X< 3. ARBERB
& 4. ABRBER

Question ID : 9895803704
Chosen Option : 1

%2 Choose the odd number out of the given options.

Ans X 1. 97
X 2 89
X 3. 83
v 4 63

Question ID : 9895803714
Chosen Option : 4

Q1-2 Select the Venn diagram that best represents the given set of classes.

‘Wheat, Crops. Farmers

Ans

r 3




x 2.

0o

~ 4

Question ID : 9895803722
Chosen Option : 1

%2 Choose the odd one out of the given options.
Ans  of 1. Yellow
X 2. Pink
3. Purple
/< 4. Orange

Question ID : 9895803700
Chosen Option : 2

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.
3
Achieve: Fail : : Gloomy : ?

Ans - X 1. Chalk
# 2. Chant
< 3. Chase
v . Cheerful

Question ID : 9895803702
Chosen Option : 1

Q.2 Select the option that is related to the third term in the same way as the second term is related to the first term.

4
BFH:DHJ::GKM:?

Ans X1 MKI
v 2. IMO
X 3. KMG
X 4 MKG

Question ID : 9895803703
Chosen Option : 2

Q5-2 In a certain code, SAW is written as 38. How will FEED be written in that code?

Ans XL 70
X 245




'3 88
< 4 30

Question ID : 9895803705
Chosen Option : 1

Q.2 Which articles of the Indian Constitution cover the fundamental right against exploitation?
6

Ans - X1 Articles 29-30
& 2. Articles 19-22
< 3. Articles 14-18
v 4. Articles 23-24

Question ID : 9895805348
Chosen Option : 3

Q7'2 Where and against which country did Sachin Tendulkar score his 100t century?
Ans 1. Perth stadium. against West Indies

2. Shere Bangla stadium, against Bangladesh

3. Eden park, against New Zealand

4. Sydney cricket ground, against Australia

Question ID : 9895805355
Chosen Option : 2

@2 In which state is Kaziranga National Park situated?

Ans of 1 Assam
2. Madhya Pradesh

3. Rajasthan
& 4 Bihar

Question ID : 9895805339
Chosen Option : 1

Qéz Which of these languages is declared ‘classical’ by the Government of India?

Ans - X 1. Marathi
& 2. Hindi
v 3 Odia

X 4 Pali

Question ID : 9895805335
Chosen Option : 2

Q(')3 Arrange the following events in correct chronology:

1) Champaran Satyagraha against indigo plantation
2) Starting of non-cooperation Khilafat movement
3) Rowlatt Satyagraha

4) Arrival of Simon commission in India




Ans of 1 1-3-2-4
X 2 3-4-2-1
X3 4-2-1-3
X 4 1-2-3-4

Question ID : 9895805342
Chosen Option : 2

Ql'3 What was the amendment done to the Indian Constitution by 5274 amendment done in 1985?

Ans  of 1 Anti-defection law was included

X 2

Amendment to the Union and State lists with respect to raising of taxes
3. The words *socialist secular’ added to the preamble

& 4. Formation of Sikkim as a state within the Indian Union

Question ID : 9895805341
Chosen Option : 4

Q2'3 The Mettur dam is built on which river and is in which state?
Ans 1. Tungabhadra river, Karnataka
/< 2. Kali river, Karnataka
« 3. Kaveri river, Tamilnadu
4. Narmada river, Madhya Pradesh

Question ID : 9895805344
Chosen Option : 4

QéB Which of these personalities is popularly known as the *father of the Indian film industry*?

Ans - X 1. Amitabh Bachchan
v 2. Dadasaheb Phalke
# 3. Dev Anand
4. Rajesh Khanna

Question ID : 9895805338
Chosen Option : 2

Q3 The silver coin introduced by Sher Shah Suri was called:
Ans X 1. Tankah
2. Rupiya
# 3. Mohar
X 4. Dinar

Question ID : 9895805345
Chosen Option : 3

Q5'3 The Kani Shawl handicraft variety belongs to which of the following states of India?

Ans « 1.




X 2. Arunachal Pradesh
& 3. Himachal Pradesh
& 4. Uttar Pradesh

Question ID : 9895805358
Chosen Option : 3

Qé3 Which of the following is not a term associated with credit?

Ans 1. Necessary documents

& 2. Collateral
X 3. Interest rate
4. Stamp by finance minister

Question ID : 9895805354
Chosen Option : 3

Q7-3 Which of the following competitions is not associated with Indian football?
Ans 1. Ranji Trophy

2. Federation Cup

3. Santosh Trophy

4. Durand Cup

Question ID : 9895805357
Chosen Option : 3

3 . . - . . .
Q8 Scurvy is caused by the deficiency of which vitamin?

Ans o 1. Vitamin C
< 2. Vitamin A
# 3. Vitamin D
& 4 Vitamin K

Question ID : 9895805351
Chosen Option : 1

QQB In which Indian state is bamboo drip irrigation system a very old practice?

Ans X 1. Chattisgarh
2. Meghalaya
3. Telangana

X 4. Maharashtra

Question ID : 9895805350
Chosen Option : 2

%4 Which is the highest quality hard coal of the below?

Ans X' 1. Peat
2. Lignite




& 3. Bituminous
v 4 Anthracite

Question ID : 9895805343
Chosen Option : 3

4 . " : .
Ql The Treaty of Purandar was signed between:

Ans

[E=N

. Afghans and Portuguese

N

. Nawab of Bengal and Rajputs

w

. Eastern Gangas and Cholas
- Mughals and Marathas

N

Question ID : 9895805337
Chosen Option : 3

Q2-4 Which of the motions is passed in the parliament to remove the President of India?

Ans 1. Impeachment Motion

& 2. Censure Motion
& 3. Cut Motion
& 4. No Confidence Motion

Question ID : 9895805347
Chosen Option : 1

Q.4 Which of these is an organisation that promotes sustainable management and conservation of tropical forests?

3
Ans X 1. United Nations Forum on Forests
/< 2. Greenpeace
< 3. World Wide Fund for Nature
4. International Tropical Timber Organization

Question ID : 9895805340
Chosen Option : 3

Q‘f Which of the following issues currency notes in India?

Ans X' 1. PNB
v 2. RBI
X 3. SBI
X 4. ICICI

Question ID : 9895805353
Chosen Option : 2

%4 What is the neutral value of the pH scale?
Ans 1. Equal to 14

X 2. Less than 7
3. Equalto 7

X 4. Above 7




Question ID : 9895805349
Chosen Option : 4

%4 Bananas turn brown in colour because:
Ans 1. an enzyme converts starch into sugar

2. the air reacts with the enzymes in the banana

w

. Bisphosphonates reacts with the enzymes in the banana

4. an enzyme converts sugar into starch

Question ID : 9895805356
Chosen Option : 1

2# On which of the below can an excise duty charged?
Ans X 1. A company’s revenue

2. Export of goods and services

3. Import of goods and services

v 4 Goods manufactured

Question ID : 9895805352
Chosen Option : 2

Q.4 Who is the author of the book ‘India’s Export Trends and Prospects for Self-Sustained Growth'?
8
Ans X 1. Shashi Tharoor
2. Manmohan Singh
3. Atal Bihari Vajpayee
# 4. Narendra Modi

Question ID : 9895805336
Chosen Option : 2

Qé"' In which Indian state is the Hornbill festival celebrated?
Ans 1. Nagaland
2. Manipur
< 3. Sikkim
4. Tripura

Question ID : 9895805346
Chosen Option : 2

%° What is the name of Malala Yousafzai’s biopic?
Ans - X 1. The Aviator

X 2. Frida

# 3. The social network

v 4. Gul Makai

Question ID : 9895805334




l Chosen Option : 1

%5 What is the median of the given data?

2.3,2.3.6.5.4,7
Ans Xl- 4

X245

v 35

X4 3

Question ID : 9895805646
Chosen Option : 1

Q.5 A sum becomes five times of itself in 8 years at simple interest. What is the rate of interest per annum?
2

Ans X 1. 37.5%
X 2. 25%
X 3 62.5%
v 4 50%

Question ID : 9895805653
Chosen Option : 2

Q.5 The table given below shows the marks obtained by 4 students in 5 subjects. The maximum marks of each subject is 100.
3

S5 85| 70 | 66 | 62

‘What is the difference in the average marks per student for subjects S5 and S2?

Ans K112
v 15
X3 175
K4 195

Question ID : 9895805663
Chosen Option : 3

Q5 The length breadth and height of a cuboid are in the ratio 4 : 3 : 2. If the volume of cuboid is 1536 cm?, then what will
4 be the total surface area of the cuboid?

ANS 1 868 em?
2. 416 cm?
3. 624 cm?

4. 832 cm?

Question ID : 9895805661
Chosen Option : 3

Q.5 The length, breadth and height of a solid cuboid is 20 cm. 16 cm and 12 cm respectively. If cuboid is melted to form
5 identical cubes of side 4 cm, then what will be the number of identical cubes?

Ans X156
X272
X 390




v 2 60

Question ID : 9895805660
Chosen Option : 1

Q.5 A bike covers a certain distance at a speed of 56 knvhr in 16 hours. How much time it will take to cover the same
6 distance at the speed of 64 km/hr?

Ans of 114 hr
<2 18hr
< 3 16 hr
&4 12hr

Question ID : 9895805658
Chosen Option : 4

5

% What s the value of (3 X 1500 + 40 +5 + 2 of 70)?
Ans X N
x 2. 2

451

(3. T

473

?( 4. T

'S
-h|w -h|w
wu w

Question ID : 9895805641
Chosen Option : 4

5 Curved surface area of a cylinder is 110 sz. If the height of cylinder is 5 cm, then what will be the diameter of its base?
Y y
8

Ans X1 14 cm
v 2 7cm
X3 35cm
& 4 10.5cm

Question ID : 9895805659
Chosen Option : 2

Q.5 Mohit and Sumit start a business with investment of ¥ 74000 and T 96000 respectively. If at the end of the year they
9 earn profit in the ratio of 5 : 8, then what will be ratio of the time period for which they invest their money?

Ans X1 37:32
<2 13:18
X3 25:32
v 4 30:37

Question ID : 9895805652
Chosen Option : 4

Q.6 The value of discount of 18% on first article is equal to the value of discount of 13% on second article. What is the ratio
0 of the marked price of two articles?

Ans X' 1. 17:24
< 2.39:50
Vs 13:18




K413:19

Question ID : 9895805645
Chosen Option : 1

2° What will be the Highest Common Factor of 5, 10 and 20?

Ans (1_ 5
X210
X3l
X415

Question ID : 9895805640
Chosen Option : 1

Q.6 The average weight of 12 boxes is 63 kg. If four boxes having an average weight of 70 kg are removed, then what will
2  be new average weight of the remaining boxes?

Ans 1. 60 kg
2. 59 kg
3. 60.5 kg
4. 59.5 kg

Question ID : 9895805643
Chosen Option : 2

Q.6 Falone can complete a work in 24 days and G alone can complete the same work in 32 days. F and G start the work
3 together but G leaves the work 8 days before the completion of work. In how many days the total work will be
completed?

Ans 13
1. —
x 5
X 2 1%6 days
F

v % days

- days

days

Question ID : 9895805655
Chosen Option : 3

Q.6 Working 2 hours in a day, P can complete a work in 10 days and working 5 hours in a day, O can complete the same
4 work in 6 days. Working 3 hours in a day. in how many days both P and Q together can complete the same work?

Ans 1. 3 days
2. 6 days
3. 4 days
4. 5 days

Question ID : 9895805656
Chosen Option : 3

Q.6 Mohit purchases eggs at the rate of T 3 per egg and sells them at the rate of T 5 per egg. On selling 35 eggs. what will be
5 the profit percentage?

Ans X1 33330
X 2. 40%




X 3.60%
v 1 66.66%

Question ID : 9895805648
Chosen Option : 4

Q.6 A bag has white and yellow balls in the ratio 7 : 11 respectively. If the total number of balls is 108, then how many balls
6 areyellow?

v 166
<2 44
X3 64
X477

Question ID : 9895805650
Chosen Option : 1

Q.6 Varun purchases 75 articles for ¥ 3150 and sells them at a profit equal to the cost price of 15 articles. What will be the
7  selling price of one article?

X13T4

K23515
v'3 T504
<4 %465

Question ID : 9895805649
Chosen Option : 1

Q.6 The average age of students is 4 and the average age of teachers is B. The number of the students is 45 times of the
8 number of teachers. What is average age of students and teachers together?

Ans Xl 454 + 8B
' 7

454 +B

45A + 4B

v
X 454 +B
X

Question ID : 9895805644
Chosen Option : 4

Q.6 The table given below shows the number of students enrolled in different courses of different colleges.
9

Courses

Bl | B2 B3 B4
C1 65 | 56 | 65 103
2 68 | 58 | 71 [ 112
a 72 | 54 | 88 | 125
4 76 | 52 | 75 | 120
(&) 69 | 60 | 79 | 126

Colleges

What is the difference in the total number of students enrolled in colleges C3 and C4?

<113
<211
X312
v 16

Question ID : 9895805664
Chosen Option : 2

—




Q.7 Ram, Sita and Salma invest ¥ 16000, T 22000 and T 18000 respectively to start a business. If the profit at the end of the
0 Yyear is 26600, then what is share of Ram?

Ans X1 T 10450
< 2. T 8550
< 3. T 9650
v+ T 7600

Question ID : 9895805651
Chosen Option : 2

Q.7 A student got 24% marks in an exam and he failed by 56 marks. If he got 60% marks, then his marks are 70 more than
1 the minimum passing marks. What is the maximum marks for the exam?

Ans  of 1350
X 2260
< 3. 380
X 4 280
Question ID : 9895805647
Chosen Option : 2
Q.7

2 What is the value of[75+25 of (§—§+£)]?

6
Ans X N
v &3

3.

X a4

th 0|\ w o olwn

Question ID : 9895805642
Chosen Option : 2

Q.7 Raju travels at 3/4 of his usual speed and reaches his office 24 minutes late than his usual time. If Raju travels at his
3 usual speed, then what will be the time taken by him to reach his office?

Ans - X 1. 64 minutes
v 2. 72 minutes
< 3. 48 minutes
< 4. 56 minutes

Question ID : 9895805657
Chosen Option : 3

Q.7 Compound interest received on a sum in st year is T 1200 (interest is compounded annually). If the rate of interest is
22.5% per annum, then what will be the interest in o year?

Ans of 1T 1470
< 2 T 1270
< 3 F 1200
x4.%270

Question ID : 9895805654
Chosen Option : 4

Q.7




The table given below shows the production of rice and the area under rice cultivation of a country for 5 consecutive
years Y1, Y2, Y3. Y4 and Y5.

Year | Rice | Area Under Rice
Production | Cultivation (in
(in 1000 kg) | 100 square meter)

Yi 520 130
Y2 570 190
Y3 680 150
Y4 720 180
Y5 850 170

‘What is the yield per square meter for the year Y3?

Ans X1 37.66 kg
X 2. 63.33kg
v 3 4533 kg
X 4 5250 kg

Question ID : 9895805662
Chosen Option : 2

Section : English Language

Q.1 Select the most appropriate word to fill in the blank.

We should always remember not to

Ans X 1. affect
< 2. undertake
< 3 inflict
v 4 create

any problems and issues that may affect our career in any organisation.

Question ID : 9895805202
Chosen Option : 4

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No Improvement.

After you will return from Bangalore, I will come and meet you.

Ans 1. After you will be returning from
2. No improvement
3. After you returned from

4. After you return from

Question ID : 9895805181
Chosen Option : 3

Q3 Select the antonym of the given word

AWKWARD

Ans - X 1. Problematic
v 2. Convenient
< 3. Difficult
< 2 Matchless

Question ID : 9895805195
Chosen Option : 1

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps, which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 4

Q4 Select the most appropriate option that will fill in
the blank number 1.

Ans X' 1 be
# 2. has
W 3 are
X 4. was

Question ID : 9895805187
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps, which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 5

Q5 Select the most appropriate option that will fill in
the blank number 2.

Ans X 1 low
X 2. little
& 3. small

4. high

Question ID : 9895805188
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps, which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 6

Q6 Select the most appropriate option that will fill in
the blank number 3.

Ans of 1 diseases
< 2. viruses
# 3. bugs

#< 4. maladies

Question ID : 9895805189
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps, which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 7

Q7 Select the most appropriate option that will fill in
the blank number 4.

Ans X 1. takings
&< 2. income
& 3. cash
W 4. revenue

Question ID : 9895805190
Chosen Option : 4

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Seafood exports from India (1) yet to gather momentum as
(2) prices, adverse weather conditions and (3)

continue to affect stocking of shrimps, which account for about three-
fourths of the (4) from export of marine products. This apart,
seafood exporters are facing (5) from the Seafood Import
Monitoring Programme (SIMP) being implemented by the US and it
is one of the largest buyers of Indian shrimps.

SubQuestion No : 8

Q8 Select the most appropriate option that will fill in
the blank number 5.

Ans X 1. rapture

2. pleasure
/< 3. capture
« 2 pressure

Question ID : 9895805191
Chosen Option : 2

Q.9 From the given options, identify the segment in the sentence which contains the grammatical error.

The government’s interim budget from this financial year contained several measures which have the forthcoming
elections in mind.

Ans 1. from this financial year
2. Government’s interim budget

& 3. which have the
& 4. contained several measures

Question ID : 9895805179
Chosen Option : 2

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No Improvement.

While learning to drive, one of the most of important things is to know the traffic rules first.

Ans 1. No improvement

& 2. When learned to drive
3. When learn driving

< 4. When learn to drive

Question ID : 9895805182
Chosen Option : 4

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
1
Soon after returning to office, the CBI chief transfer five officers.

Ans 1. returning to office,

& 2. the CBI chief
v 3. transfer five officers
& 4. Soon after




Question ID : 9895805178
Chosen Option : 2

% Select the correctly spelt word.
Ans X 1. Sybstitushion

v 2. Substitution

& 3. Substituition

& 4. Sabstitution

Question ID : 9895805200
Chosen Option : 3

Q3'1 Select the option that means the same as the given idiom.

To cut both ends
Ans 1. To reject all arguments

2. To argue in support of both sides

X 3. To consider the truth and untruth
4. To argue against both sides of an issue

Question ID : 9895805196
Chosen Option : 1

Q1 Select the antonym of the given word.

EUPHORIA
Ans X' 1. Folklore

2. Lethargy

X 3. Song
X 4. Music

Question ID : 9895805194
Chosen Option : 4

Qél Select the correctly spelt word.
Ans X 1. Magnanemous
/< 2. Magnanomous
3. Magnanimous

4. Magnonimus

Question ID : 9895805201
Chosen Option : 1

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.

The Builders® Associations want GST exemption for government projects which have already proposed.

Ans 1. which have already proposed.

2. want GST exemption




X 3. for government projects

& 4. The Builders’ Associations

Question ID : 9895805180
Chosen Option : 1

Q7-1 Select the most appropriate option to fill in the blank.
Is it true that the students from the Space Research Centre this evening?
Ans 1. are arriving

2. is arriving

w

. has arriving

SN

. have arriving

Question ID : 9895805184
Chosen Option : 1

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
8 substitute it, select No Improvement.

These flowers smell sweetly and are sold at high prices in the market.

Ans 1. These flowers will smell sweetly
2. These flowers smelt sweetly
3. No improvement

v 4. These flowers smell sweet

Question ID : 9895805183
Chosen Option : 4

Qél Select the word which means the same as the group of words given.

One who studies antique things
ans - X 1. Historian
2. Sociologist
3. Archaeologist

4. Antiquarian

Question ID : 9895805199
Chosen Option : 3

Q2 : o !
o Select the synonym of the given word.

INCORRIGIBLE
Ans - X 1. Reliable
& 2. Unwise

3. Intelligible

v 4 Unalterable

Question ID : 9895805193
Chosen Option : 4




Q.2 Select the most appropriate word to fill in the blank.
1

AlthoughIwas _ of his new plans for growth of the company, I relied on him as he was very honest.
Ans 1. persuaded
X 2. committed
# 3. convinced
4. sceptical

Question ID : 9895805203
Chosen Option : 1

Q2'2 Select the word which means the same as the group of words given.

One who offers one’s services without anything in return

Ans o 1. Nolunteer
/< 2. Entrepreneur

& 3. Businessman
/< 4. Investor

Question ID : 9895805198
Chosen Option : 3

2 :
Q3 Select the synonym of the given word.

DISHEVELLED
Ans X 1. Unsafe
& 2. Unclean
/< 3. Uncertain
v 4 Untidy

Question ID : 9895805192
Chosen Option : 3

Qf Choose the correct meaning of the following idiom.

To get away with

Ans 1. To escape from something

N

. To go away from home

w

. To finish an assignment

~

. To go to an unknown place

Question ID : 9895805197
Chosen Option : 1

%2 Select the most appropriate option to fill in the blank.

example helps understand a concept better.
Ans - X 1. Few




X2 A
Vs An
X 4. One

Question ID : 9895805185
Chosen Option : 3

Section : Hindi Language

! Rea T Y s % T 39w Areg TS Y
ST WeT AT WA § 3TF qg W grar gl
Xl!%'?fl’

2.%’@'

. saTdr

. @

Ans

Question ID : 9895805492
Chosen Option : --

2 FEY IS I 2T F TAF FY
S L R

Question ID : 9895805509
Chosen Option : --

Q3 Rr 1w arww # Y@ifea w3 @ wfarafa s & v svgea fwes &1 99w X
MEr T 1T & A W e R AT gwewr @ mh

Ans me.ﬁml

- TS T g AT

3. A GHeo gl |

AT G g T

N

~

Question ID : 9895805489
Chosen Option : --

Q"‘fa(rmal?qraﬁrﬁa’mgﬁl

HeaqTH
X 2§
v 3 BT




Question ID : 9895805501
Chosen Option : --

° R T F RS & T 9GS ereg 1 TTA H
St & gt H onfSar SEH 3WE _ FA I
e a1 i

. S

3. grU-3y
X 4 9

Question ID : 9895805491
Chosen Option : --

O° @ IIA aTer e F TIT FY
Ans of 1 FeeAdr
X 2. TASAAAT
X 3. Hostedl
X 4 FeAedr

Question ID : 9895805508
Chosen Option : --

7 RT AT AeT F TATAT AT F TTT FY

e

L ggr
X 2. FHIST
X 3. TdTeRT
X4 FIR

Ans

Question ID : 9895805503
Chosen Option : --

°° Rea T s F T sgEd e F TS A

AR I | Fr gorar 3R S sErETT

Ans GG

2. =it
3. hFHBIL

2

4. AT

Question ID : 9895805493
Chosen Option : --




Comprehension:

few 1T =t # Fo U= g faw a §) Rw aw
et Fr e ¥ g e 9 9% & &
fore sugea FeeT &1 =I5 H

e S SgHeT urg H MAFRETTA T
9 I JUIRT AT § 9 d% 3EH T 2)
T g ST AT Ig IR IFH A g AT| SHiOT gH off
T Y WE (3) B R e & T
ESer (4) H TIH Fr SGTeT F W FAT
Seaford el wfgw| Shaer & aeriamsi & a8 ge
YaTg & Uk X TIH H a1 §a ofed W AT
(5) F% IT & A gl

SubQuestion No : 9
*° arezrer # Wi Rea wE (1) F e suged

g BT -
Ans LW

X 2 gy

< 3. 3T

o gar

Question ID : 9895805495
Chosen Option : --

Comprehension:

few v 3=t # 3T e ger fRw v §) faw aw
et Fr werar ¥ g w9 9% & &
e sugwa ReeT #1 79 HX

i S SgHeT OTg H () ARETTAF
a9 de 9T SAIaT § 9 d 3 TiE (2)
T & ST AT IF T ITH F g 0| ST gH o
TEOT $T a1E (3) gl TR Toisheret & o
ki) (4) & FIH Fr GTeT Y T AT
yeaford T@elr wfge| Shaer & ameriesit F T8 ge
garg & Ak T TIH HT a1 T ol T SaeT

(5) #% T qG K gl

SubQuestion No : 10

Q.1
0




e # HHfaa fad wue (2) & o suged

g BIeT -
Ans v’l_m

2. JET
X3 g3

4 T

Question ID : 9895805496
Chosen Option : -

Comprehension:
R a1 srede # g o ger e o #1 R o
Ryedt $r TErar ¥ ReT T Y1 TS TE F
T s9ged fmeT &1 =T #Y
wF SR T AR () AR T
T aF UM AT g I aF 3@ @ (2)
T 8 ST AT I¢ o 9EH o a4 AT| FHiOW gH off
TR RE _ (3) B TR e & fow
IS (4) F TEH T saTen B R GET

geaford T@elr wnfgw| Shaer & meriemsit F T8 ge
YaTg S AP IR TIH HT a1 §T ol W AT
(5) &% IET T A gl
SubQuestion No : 11
% areEier 7 THtad Red T (3) F v sugEa
reg g -

Al
ns 1. 3.1'3;3'

2. 3T
3. %@'
4. ng

Question ID : 9895805497
Chosen Option : --

Comprehension:




few 1w =t # Fo e g faw aw §1 Rw aw
et $r mear ¥ o v 9 9% T &
fore sqgea faweT &1 =9 #

e S SgHeT OTg H () ARETAF
I I% U ST § 9 I 3T @i (2
T @ AT AT I oI HIH F §4 AT| ST gH oft
ot fr @ (3) @t JEY fAwerst & faw
ki) (4) & FIH $Hr SGreT F T AT
geafard @t =a1fge| Shae $r st & 98 gu
garg & Ak T IH FHT a1 ol ol T SAged
(5) F% IT T A gl

SubQuestion No : 12
% e # TRfad REd T (4) & P s

e g -
Ans 1_1%1.

X2 &I

X< s @Iy

4.eh-

Question ID : 9895805498
Chosen Option : --

Comprehension:

few 1T 3=te # F© e g faw A §1 Rw aw
et Hr TETar & RNad T s IS & F

fore sqgea faweT &1 =9 #
T ST SgHeT Org # (1) & QL EIT A
a9 9% J9T AT § S de 3T @I (2)

T 2 ST AT 9 AR HTH o 1 0| ST g off
o Fr a@ (3) g ST e & forw
ki) (4) & FIH Fr SGreT H T AT
yeafard @t =a1fge| Shae $r st & 98 gu
YaTg S AP IR TIH HT T §T ol W AT
(5) F% IT & A gl
SubQuestion No : 13
% eI # wHfad Red T (5) F AW sugwa
e g -




Ans 1.

a%:ﬂ

Question ID : 9895805499
Chosen Option : --

% & T sy & T o IR

Srge Jua 7 & §F
AL o
2. QirsTAT
3. fgrom
4 FHIUTAT

Question ID : 9895805507
Chosen Option : --

% R v g w1 fEw I

397
G
V2 37T

X 4 TS

Ans

Question ID : 9895805500
Chosen Option : --

%! T T T # ag AT A Y S FE IR R
s wsmawrdt @ § swfoT 3qe gEfee gf¥cT T=r A
AL ganfaes g
2. SHIT 3T
3 &g gl gl
o eI gsmaedy g &

Question ID : 9895805485
Chosen Option : --

Qilﬁcmmﬁ?@iﬁmd?ﬁmmtﬁvmﬁwqmmﬁ|
AT 20 P TAT HIST TeAT Tl dRAAT i FrafFerar g anfgw)

A1 NYe U 9T AT HE
v 2 39 T F §T FIT




3. HYAT T H FaT FHIsT
4. 39eT QA IT FAT FHIST

Question ID : 9895805487
Chosen Option : --

Qél Rw a1w g #7 3 97 A9 w e w1k R

AT 9 R F v B T WA F Tehed HAT § 99 98 ¥ @ W AT FIA
X 1 g FA F Hehed T &

2. &Y & o2 &
3.3@‘33{3

Ans

+ 9 9F Y @ R AT FT B

Question ID : 9895805486
Chosen Option : --

Qélﬁcmmﬁwmdgaﬁmmasﬁvmﬁwwmﬁl
AT FEMS H TSR A oAl T ST 7l

" K 1 3 seoTedr @ & B
2. 39T FTOIRAT T T B
3. 39T FTOEAT G T gl
4. AT FTOTRAT @ T

Question ID : 9895805488
Chosen Option : --

QO-2 rfefaT & ¥ 37 ReeT & w9 F S ATAR G TAAT FEEY FHT WIS HT
A
"X L TS F gi&A FAGA

> &g A P AR
3. HUA Pl YLEAN HASAT

4 YT T ATASAT GHSAT

Question ID : 9895805505
Chosen Option : --

Q1-2 Pl & & 37 Rees & 99w F /T F7 a5 T Fera¥ 7S cwwT F

AL e @ arg # ageer
2. ey s19 W HF Agew 7 AT
5 OIS OF §19 P FeT-TSTH Fgal
4. 98 WX e &1 A=

Question ID : 9895805504




l Chosen Option : --

% Raa T @ R & R 39gEa e # 9T F

TH TG & 3o 30T o9 B
2. A=
3. 3eT

v IR

Question ID : 9895805490
Chosen Option : --

Y R ae F R o e i

SET ST F ST "
Ans X1 FIET

Question ID : 9895805506
Chosen Option : --

% R T wreg ¥ TATAET e FT ATT FY

AT
S L RRERR
X 2. 3GPR
V'3 TSR
4. BFEAFR

2

Question ID : 9895805502
Chosen Option : --

ngﬁvmmwagmmﬁmﬁaﬂégﬁ'%l

wl 3R TS s Feem & ¢ & o9 oA H T AT g
A e 3l wfesEr
2 gr et &
4.mq‘:ﬁﬁstm%l

Question ID : 9895805484
Chosen Option : --
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Section : General Section

Q.1 Select a figure from amongst the four alternatives that when placed in the blank space (?) of figure X will complete the
pattern. (Rotation is not allowed).

]|

X

Ans

F

v

F )

X a4

Lguemiun 1D . 969006Us0LU
| Chosen Option : 2 |

Q.2
Choose the option in which the figure marked ‘X’ is embedded. (Rotation is not allowed)

ma
Ans X

X |5y

LY\

v 5y

M

X3 | [Ex

AN

X a W

Quemiun 1D . JO0JOooUS0L1L
| Chosen Option : 2 |




Q3 Choose the odd one out of the given options.
Ans  of 1 KIJL

X 2 FIL

X 3 GIK

X 4 DKL

Question ID : 9895803801
Chosen Option : 4

Q.4 A square transparent sheet with a pattern is given. How will the pattern appear when the transparent sheet is folded
along the dotted line?

A

X

x . e

Ans

v, L

Question ID : 9895803823
Chosen Option : 3

Q.5 Select the option that is related to the third number in the same way as the second number is related to the first number.
36:324::11:?

ans X1 259

X 2 121

v 22

< 4221

Question ID : 9895803815
Chosen Option : 1

Q.6 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
is true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) All toads are frogs.
2) All frogs are snakes.
Conclusion:
1. Some snakes are toads.

II.  Some frogs are toads.

Ans 1. Only conclusion I follows.

& 2. Either conclusion I or conclusion II follows.




+ 2 Both conclusions follow.
4. Only conclusion II follows.

Question ID : 9895803811
Chosen Option : 3

Q.7 Eight friends A, B, C, D, E. F, G and H are sitting around a circular table facing each other for a lunch. A is opposite D
and third to the right of B. G is between A and F. H is to the right of A. E is between C and D. Who is sitting opposite

B?

Ans X' 1. C
X2 E
X3 F
viH

Question ID : 9895803809
Chosen Option : 2

Q.8 Seven friends O, P, Q. R. S, T and U are watching a movie sitting in a row. P is sitting at one extreme end. Q is sitting to
the immediate left of S. P is sitting second to the right of T. U is not sitting at any extreme end. O is sitting between R
and T. Who is sitting at the extreme left end?

Ans X' 1. T
v:2Q
X3 R
X4 P

Question ID : 9895803808
Chosen Option : 2

Q.9 Select the option that is related to the third term in the same way as the second term is related to the first term.
Ichthyology : Fishes : : Hematology : ?

Ans 1. Ligaments
v 2 Blood

X 3. Tissue
< 4 Bone

Question ID : 9895803803
Chosen Option : 2

Q(-)l Select the option that will correctly replace the question mark (?) in the series.

5,17,34,61,?
Ans - X1 105
v 2103
X 3115
X 4125

Question ID : 9895803814
Chosen Option : 2

Q.1




Select the Venn diagram that best represents the given set of classes.

Paragraph, Word. Sentence

Ans
Xl@
(2.
xs.
X4m

Question ID : 9895803824
Chosen Option : 2

Qz'l Choose the option that would follow next in the given figure series.

Problem Fig.
W IK (S|
A B C D E

Ans -

<[




X 3

1y
&

Question ID : 9895803819
Chosen Option : 2

Qél Find out the two signs to be interchanged to make the following equation correct.
25+25x25-25+25=-599
Ans X1+ and x
v 2 xand+
< 3 - and x
K4 -and+

Question ID : 9895803818
Chosen Option : 2

Q‘il Choose the option that most closely resembles the mirror image of the given figure.

Ans =

X 3

Question ID : 9895803822
Chosen Option : 2

Q! Choose the odd number out of the given options.

Ans




X 165
X2 52
X3 26
v 97

Question ID : 9895803816
Chosen Option : 4

Qél Select the option that will correctly replace the question mark (?) in the series.

102, 98, 82, 46, ?
Ans X120

X 218

X3 =20

v -18

Question ID : 9895803813
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
7
Famous : Renowned : : Ban : ?

Ans - X1 Use
X 2. Packet
< 3. Allow
v+ Prohibition

Question ID : 9895803804
Chosen Option : 2

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
8 s true, even if it appears at variance with generally established facts, decide which conclusion(s) logically and definitely
follow(s) from the information given in the statements.

Statements:
1) Some manure are ammonia.
2) Some ammonia are potash.
Conclusion:
I.  Some ammonia are manure.

II.  Some potash are ammonia.

Ans 1. Only conclusion I follows.
v 2. Both conclusions follow.

& 3. Neither conclusion I nor conclusion II follows.
4. Only conclusion II follows.

Question ID : 9895803812
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
9
LEVEL : MFVDK :: FENCE:?

Ans X 1. GFNDB
X 2. FGNDB
Vs




< 4. FGNBD

Question ID : 9895803805
Chosen Option : 4

Q.2 In a certain code, ABOVE is written as ABEOV. How will QUESTION be written in that code?
0

Ans  of 1 EINOQSTU
X 2. EINQOSTU
X 3. EINOQTSU
X 2. USINVSIN

Question ID : 9895803806
Chosen Option : 2

Qi2 Select the option that will correctly replace the question mark (?) in the given pattern.

26 |17

37 10
?15

Ans X 1.713
X 23
V'3 50
X 4 49

Question ID : 9895803817
Chosen Option : 2

Q.2 J.KL,M, N and O are six teachers. Each one teaches a different subject out of Hindi, English, Math, Science, Social
2 Science and Arts, not necessarily in the same order. Each of them teaches on only one day. from Monday to Saturday.
not necessarily in the same order.

J teaches Science on Wednesday. O teaches Math second after J. K teaches on the first day of the week. but teaches
neither Hindi nor English. M teaches English before N and L teaches Arts before J. Which subject is taught on
Saturday?

Ans  of 1. Hindi
2. English
& 3. Social Science
& 4. Science

Question ID : 9895803810
Chosen Option : 2

%% Choose the odd one out of the given options.
Ans X' 1 Ear
2. Kidney
X 3. Eye
X 4. Nose

Question ID : 9895803802




l Chosen Option : 2 ]

Q"‘Z In a certain code, DIG is written as 20. How will FEED be written in that code?

Ans X180
< 260
v 3 20
X 490

Question ID : 9895803807
Chosen Option : 3

Qéz Select the option that will correctly replace the question mark (?) in the series.

QFM. OHL, MIK, ?
Ans X' 1. KIJL

v 2 KLJ

X 3. JKL

X 4 LKJ

Question ID : 9895803800
Chosen Option : 2

Qéz The Himalayas are an example of mountains.

Ans X1 block
2. plateau

< 3. volcanic
v 4 fold

Question ID : 9895805362
Chosen Option : 1

Q7'2 The raga ‘Miya Malhar® was created by:
Ans  of 1 Tansen
# 2. Mira Bai
< 3. Amir Khusro
4. Pandit Jasraj

Question ID : 9895805382
Chosen Option : 3

Q.2 Pokkalli, a unique variety of rice which can sustain in salinity is endemic to which state of India?

8
Ans - X 1. Goa
< 2. Andhra Pradesh
v 3 Kerala
4. Telangana

Question ID : 9895805383
Chosen Option : 3

T




Q.2 With reference to the Kangra School of Painting, which of the following statements is correct?
9

Ans

[E=N

. Its theme is prosaic in nature

N

. It uses strong colours with deep Red and Black

w

- It was inspired by the Vaishnavite traditions

N

. It was developed during the reign of Samudragupta

Question ID : 9895805360
Chosen Option : 1

Q.3 When the government’s total revenue, excluding borrowings. is less than the planned expenditure, it is called:
0

ans - X1 revenue deficit
2. budget shortfall
v 3 fiscal deficit
4. deficit financing

Question ID : 9895805373
Chosen Option : 1

Q3 “Sanitation is more important than independence — Who said this?
Ans 1. C Rajagopalachari
v 2. Mahatma Gandhi

& 3. Jawaharlal Nehru
& 4. Subhash Chandra Bose

Question ID : 9895805369
Chosen Option : 1

Q2-3 “Sattriya™ is a dance form which has its origins in which state of India?

Ans X 1. Karnataka
/< 2. Andhra Pradesh
# 3. Tamil Nadu
v 4 Assam

Question ID : 9895805381
Chosen Option : 2

% With which sport is Durand Cup associated?
Ans o 1. Football
2. Hockey
# 3. Tennis
# 4. Cricket

Question ID : 9895805379
Chosen Option : 2

93 Ozone depletion is greatest near:

Ans




1. tropics
X 2. equator
3. poles

X 4. oceans

Question ID : 9895805366
Chosen Option : 4

%3 Which institution is responsible for calculating the GDP of India?
Ans 1. Ministry of Finance

& 2. Reserve Bank of India
v 3. Central Statistics Office
& 4. Chief Economic Advisor

Question ID : 9895805375
Chosen Option : 1

Q.3 When you heat a China dish containing 1gm of Copper powder, a Black substance is formed on the surface of the
6 powder due to:

Ans - X' 1. Atomization
# 2. Carbonization
v 3. Oxidation

< 4. Desalinization

Question ID : 9895805365
Chosen Option : 2

Q7-3 Bedaquiline drug was developed to treat which of the following diseases?

Ans 1. Acute Myeloid Leukemia
& 2. Cholera

v 3. MDR-TB

< 4. Osteoarthritis

Question ID : 9895805376
Chosen Option : 2

Qé3 Which of the following features are used by Protista organisms for locomotion?
Ans X 1. Maxillia
2. Flagella
3. Ephemera
< 4 Chimera

Question ID : 9895805368
Chosen Option : 1

Q9-3 Andal, a Bhakti saint was associated to which of the following religious sects?

Ans  of 1. Vaishnavism
& 2. Shaivism




& 3. Shaktism
& 4 Buddhism

Question ID : 9895805361
Chosen Option : 1

%4 When were the first modern Olympic Games held?

Ans  of 1 1896
& 2. 1935
& 31943
X 41921

Question ID : 9895805380
Chosen Option : 1

24 Which of the following rivers flows into the Arabian Sea?

Ans o 1. Narmada
X 2. Kaveri
< 3. Krishna
X 4 Godavari

Question ID : 9895805363
Chosen Option : 2

Q2-4 Which is the highest peace time gallantry award in India?
Ans of 1 Ashok Chakra

2. Kirti Chakra

< 3. Mahavir Chakra

< 4. Param Vir Chakra

Question ID : 9895805377
Chosen Option : 4

Q3'4 Who is the author of the book ‘The Discovery of India’?
Ans 1. Atal Bihari Vajpayee

& 2. Indira Gandhi
& 3. Mahatma Gandhi
v 4 Jawaharlal Nehru

Question ID : 9895805378
Chosen Option : 1

Q‘-“" The Planning Commission was set up by the Government of India in the year:

Ans X1 1948
v 2. 1950
& 31949
X 4. 1951

[ Question ID : 9895805371




l Chosen Option : 4 J

%* Which of the following is NOT a feature of the Constitution of India?
Ans 1. Separation of Powers
' 2. Unitary System
3. Fundamental Rights
X 4 Federalism

Question ID : 9895805370
Chosen Option : 1

Qé“ As per 2011 census, which of the following states in India has the lowest population density?
ans X1 sikkim
2. Chhattisgarh

v 3. Arunachal Pradesh
& 4 Himachal Pradesh

Question ID : 9895805364
Chosen Option : 1

Q.4 A loan becomes a Non-Performing Asset (NPA) when the interest or principal becomes overdue for a period of:

7
Ans X" 1. 5 years
v 2. 90 days
3. 180 days
4. 365 days

Question ID : 9895805374
Chosen Option : 3

Q.4 A Eukaryotic cell has membrane bound organelles, including a nucleus, which allow cellular processes to be carried out
8 in 2

Ans - X 1. Bifurcation
v 2. Isolation
< 3. Inclusion
< 4. Cassation

Question ID : 9895805367
Chosen Option : 3

Q9'4 The *Gandhara School of Art” was developed underthe  Dynasty.
Ans o 1. Kushana

/< 2. Maurya

« 3. Nanda

< 4 Chola

Question ID : 9895805359
Chosen Option : 2

.-




O° The Constituent Assembly met for the first time in :

Ans X 1. 1945
v 2. 1946
X 31947
X 41948

Question ID : 9895805372
Chosen Option : 3

Q.5 Three persons A, B and C started a business with their shares in the ratio 3 : 4 : 5. After 4 months B withdrew his 50%
1 share and C withdrew his 20% share 4 months prior to completion of the year. If total profit in the year is ¥ 31,000 then
find the share of A in the profit.

Ans - X1 T 7750
v 2 %9000
& 3. T9300
< 4 T 10330

Question ID : 9895805676
Chosen Option : 1

Q.5 Marked price of an article is T 8840. If discount of 35% is given on the article, then what will be the selling price of the article?
2

Ans X1 T 6324
<2 %6176
X 3 T6548
v Z5746

Question ID : 9895805670
Chosen Option : 2

Q.5 Anil, Dinesh and Deepak together can complete a work in 40 days. Anil and Dinesh together can complete the same
3 work in 50 days. In how many days Deepak alone can complete the same work?

Ans X 1. 90 days
2. 200 days
3. 150 days
4. 75 days

Question ID : 9895805680
Chosen Option : 2

Q.5 Suraj covers a distance of 18 km in 12 minutes. If his speed is decreases by 30 kmv/hr, then how much time will Suraj
4 take to cover the same distance?

Ans X 1. 12 minutes
< 2. 16 minutes
< 3. 20 minutes
v 2 18 minutes

Question ID : 9895805683
Chosen Option : 4

Q.5 The difference between the simple interest and compound interest (interest is compounded half yearly) on a sum at the
5 rate of 25% per annum for one year is T 4375. What will be the principal?

Ans




v 1. T 280000
< 2. F.85000
< 3. T 80000
< 4T 75000

Question ID : 9895805679
Chosen Option : 4

Q.5 A shopkeeper sells two articles, one of them with a profit of 10% for T 1100 and another with a loss of 10% for T 900.
6 What will be the profit or loss percent?

Ans X1 % 1000
2. Neither profit nor loss

3. 20% profit
& 4. 20% loss

Question ID : 9895805674
Chosen Option : 3

Q.5 A bag has ¥ 785 in the denomination of T 2, ¥ 5 and ¥ 10 coins. The coins are in the ratio of 6 : 9 : 10. How many coins
7 of% 5 are in the bag?

Ans - X1 60
X212
V'3 45
X424

Question ID : 9895805675
Chosen Option : 4

Q.5 The table given below shows the number of students enrolled in different courses of different colleges.

Colleges

Bl | B2 B3 B4
C1 65 | 56 | 65 | 103
2 68 | 58 | 71 | 112
c3 72 | 54 | 88 | 125
4 76 | 52 | 75 | 120
C5 69 | 60 | 79 | 126

Which college has the highest average number of students per course?
Ans X' 1. C4
22
v C3
X4 Cs

Question ID : 9895805688
Chosen Option : 1

Q.5 Inthe table given below Marks of 4 students in 5 different Subjects are given. Total Marks of each subject is 100.
9

Math | English | Hindi | Social | Science
Science

S1 98 60 85 75 92
2 97 65 80 80 90
S3 95 70 85 70 95
4 9% 62 70 80 %0

‘What is the difference in average marks of students S1 and S4?
Ans X 1. 1.4
X234
<32
V24




Question ID : 9895805689
Chosen Option : 3

Q0 If 30% of x is same as 40% of y then what is y : x?

Ans X1 4:3
v23:4
X37:4
X4 4:7

Question ID : 9895805677
Chosen Option : 1

Q.6 Three cubes each of sides 7 cm are joined end to end. Find the surface area of the resulting solid.
1

Ans of 1 686 cm?
& 2. 686 cm
< 3 882 cm?
X 4. 882 cm

Question ID : 9895805685
Chosen Option : 3

Q.6 Ifa 32 year old man is replaced by a new man, then the average age of 42 men increases by 1 year. What is the age of
2 the new man?

Ans B 1. 72 years
X 2. 75 years
v 3. 74 years
< 4. 73 years

Question ID : 9895805669
Chosen Option : 3

Q.6 Asolid toy is in the form of hemisphere surmounted by right circular cone. Height of the cone is 4 cm and diameter of
3 the base is 6 cm. What will be the surface area of the toy?

Ans 660 2
cm

1, —

528 2
2.7 cm

v 1:—6 cm?

66
4. — cm?
7

Question ID : 9895805684
Chosen Option : 2

% ‘What is the value of [100 +50—25—-550f G X 1;1)] ?

Ans ?{'1 1156
oy
1382

27




X 3 1321

27

1226
27

Question ID : 9895805666
Chosen Option : 2

Q.6 From a solid cylinder with base diameter 14 cm and height 20 cm hemispherical parts were cut from both the ends of
5 the cylinder. Find the volume of the resultant object?

Ans 4312 3
XL -

4928 3
qu.—?;— cm

9240 3
* 3. = m

THES g
X a — cm

Question ID : 9895805686
Chosen Option : 2

Q.6 A sum of ¥ 4000 is lent on simple interest at the rate of 10% per annum. Simple interest for 5 years is how much more
6 than the simple interest for 3 years?

Ans X1 T 400
< 2. %600
V'3 %800
< 2 T 1200

Question ID : 9895805678
Chosen Option : 1

Q7-5 14 observations are 10, 11, 11, 12, 13, 14, 12, 13, 10, 12, 12, 14, 14 and 15.

What is the median of the given observations?
Ans of 112
<213
X314
X410

Question ID : 9895805671
Chosen Option : 4

Q.6 If Vijay is travelling at the speed of 17.5 m/s, then how much distance will Vijay cover in 26 hours?
8

Ans X1 1474 km
< 21562 km
< 3 1572 km
v 2 1638 km

Question ID : 9895805682
Chosen Option : 3

Q6




The table given below shows the number of students enrolled in different courses of different colleges.

Courses

Bl B2 | B3| B4
C1 65 | 56 | 65 | 103
2 68 | 58 | 71 | 112
3 72 | 54 | 88 | 125
4 76 | 52 | 75 [ 120
Cc5 69 | 60 | 79 | 126

What is the average number of students per college enrolled in course B2?
Ans X1 60
V2 56
X3 58
X4 53

Question ID : 9895805687
Chosen Option : 1

Q.7 Product of Highest Common Factor and Least Common Multiple of two numbers is 216. If one of the number is 12,
0 then what will be the ratio of these two numbers?

Ans X 1.:825
X21:6
vz 2:3
Xal:2

Question ID : 9895805665
Chosen Option : 2

Qi7 What is the value of 28 + (11-4) + 384 =+ (15 + 16 + 4 + 4)?

Ans 472
XL =
23

2 28

23

)(32

23

W 425

23

Question ID : 9895805667
Chosen Option : 1

Q.7 If40% of a number is 105 more than the one-fourth of that number, then what will be the difference between the
2 number and 35% of the number?

Ans X 1. 315
X 2. 495
v s 455
X 4. 375

Question ID : 9895805672
Chosen Option : 1

Q.7 Palone can complete a work in 16 days and O alone can complete the same work in 20 days. P and Q start the work
3 together but O leaves the work 7 days before the completion of work. In how many days the total work will be completed?

Ans 1. 9 days
2. 14 days
v 3 12 days




4. 18 days

Question ID : 9895805681
Chosen Option : 3

Q.7 The average monthly income of P and Q is ¥ 20000. The average monthly income of Q and R is T 40000. Monthly
4 income of R is how much more than monthly income of P?

Ans - of 1. F 40000
& 2. 80000
< 3. 20000
< 4T 25000

Question ID : 9895805668
Chosen Option : 3

Q.7 Raju purchased glasses at the rate of T 15 per glass and sold them at the rate of T 12 per glass. On selling 42 glasses,
5 what will be the loss percentage?

Ans X 1. 33.33%
X 2. 25%
V'3 20%
X 4. 14.28%

Question ID : 9895805673
Chosen Option : 2

Section : English Language

Q1 Select the option that means the same as the given idiom.

To miss the boat
Ans 1. To miss an opportunity

2. To miss the journey by boat

w

. To fail to complete the work

. To decide to travel by air

~

Question ID : 9895805223
Chosen Option : 4

Q2 Select the antonym of the given word

CONTRARY
Ans - X 1. Predetermined

2. Agreeable

# 3. Balanced
& 4. Neutral

Question ID : 9895805221
Chosen Option : 4

Q.3 Select the most appropriate word to fill in the blank.

India’s Republic Day Parade had, among the main , an all-women’s marching contingent.




Ans 1. displays
2. spectacle
& 3. demonstrations
v 4 attractions

Question ID : 9895805229
Chosen Option : 4

Q.4 From the given options, identify the segment in the sentence which contains the grammatical error.
Having worked for the whole day, you shall have taken some rest and begun again.

Ans 1. Having worked for

2. some rest and begun again

w

. the whole day

N

- you should have taken

Question ID : 9895805204
Chosen Option : 4

Q.5 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

In the interview held recently, I answer the questions as best as I could.

Ans 1. T answer the question as best as I could.
2. T answered the questions as best as I could.
3. I answered the question as best as I can.

4. No improvement.

Question ID : 9895805209
Chosen Option : 3

Q.6 From the given options, identify the segment in the sentence which contains the grammatical error.
The researchers have found that all species makes a constructive contribution to the ecology of the earth.
Ans - X 1. a constructive contribution to
2. that all species makes
3. the ecology of the earth.

& 4. The researchers have found

Question ID : 9895805205
Chosen Option : 2

Q7 Select the word which means the same as the group of words given.

The method and practice of teaching
Ans 1. Psychology
& 2. Methodology
3. Pedagogy
4. Philosophy




Question ID : 9895805224
Chosen Option : 2

Q.8 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

As you can see from my resume, I am working in Mumbai since 2016.

Ans 1. No improvement.

& 2. Tam work in Mumbai since 2016.
3. Tam working in Mumbai from 2016.

4. I have been working in Mumbai since 2016.

Question ID : 9895805207
Chosen Option : 4

Q.9 From the given options, identify the segment in the sentence which contains the grammatical error.

One could argue that these are the compulsions of parliamentary democracy for smooth functioning for the State.

Ans . these are the compulsions

[any

N

. of parliamentary democracy

w

- functioning for the State.

IS

. One could argue that

Question ID : 9895805206
Chosen Option : 2

le Select the word which means the same as the group of words given.

A person who presents a radio/television programme
Ans . X1 Alchemist
/< 2. Reporter
/< 3. Anarchist
v+ Anchor

Question ID : 9895805225
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Given that the availability of safe drinking water touches the lives of

everyone, the (1) of Safe Drinking Water Mission

can hardly be underestimated. Undoubtedly, this is one of the most
(2) public goods problems to solve. The private

solution of reaching out for bottled water due to risks posed by tap

water is a (3) one. Even the poor are forced to choose

between risking hospital expenses and buying bottled water. Taking

into consideration the (4) scenario, it is the duty of

every citizen to find out possible and inexpensive means to

(5) that safe drinking water is available to all.

SubQuestion No : 11

Q.1
1




Select the most appropriate option that will fill in
the blank number 1.

Ans 1. significance
X 2. safety
/< 3. progress
/< 4. consequence

Question ID : 9895805213
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Given that the availability of safe drinking water touches the lives of

everyone, the (1) of Safe Drinking Water Mission

can hardly be underestimated. Undoubtedly, this is one of the most
(2) public goods problems to solve. The private

solution of reaching out for bottled water due to risks posed by tap

water is a (3) one. Even the poor are forced to choose

between risking hospital expenses and buying bottled water. Taking

into consideration the (4) scenario, it is the duty of

every citizen to find out possible and inexpensive means to

(5) that safe drinking water is available to all.

SubQuestion No : 12

Q2'1 Select the most appropriate option that will fill in
the blank number 2.

Ans  of 1 difficult
2. complete

< 3. whole

4. ready

Question ID : 9895805214
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Given that the availability of safe drinking water touches the lives of

everyone, the (1) of Safe Drinking Water Mission

can hardly be underestimated. Undoubtedly, this is one of the most
(2) public goods problems to solve. The private

solution of reaching out for bottled water due to risks posed by tap

water is a (3) one. Even the poor are forced to choose

between risking hospital expenses and buying bottled water. Taking

into consideration the (4) scenario, it is the duty of

every citizen to find out possible and inexpensive means to

(5) that safe drinking water is available to all.

SubQuestion No : 13

Q& Select the most appropriate option that will fill in
the blank number 3.




Ans 1. simple
#< 2. material

< 3. factual
W 2 costly

Question ID : 9895805215
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Given that the availability of safe drinking water touches the lives of

everyone, the (1) of Safe Drinking Water Mission

can hardly be underestimated. Undoubtedly, this is one of the most
(2) public goods problems to solve. The private

solution of reaching out for bottled water due to risks posed by tap

water is a (3) one. Even the poor are forced to choose

between risking hospital expenses and buying bottled water. Taking

into consideration the (4) scenario, it is the duty of

every citizen to find out possible and inexpensive means to

(5) that safe drinking water is available to all.

SubQuestion No : 14

Qj Select the most appropriate option that will fill in
the blank number 4.

Ans 1. public
« 2. present
3. general

& 4 rural

Question ID : 9895805216
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

Given that the availability of safe drinking water touches the lives of

everyone, the (1) of Safe Drinking Water Mission

can hardly be underestimated. Undoubtedly, this is one of the most
(2) public goods problems to solve. The private

solution of reaching out for bottled water due to risks posed by tap

water is a (3) one. Even the poor are forced to choose

between risking hospital expenses and buying bottled water. Taking

into consideration the (4) scenario, it is the duty of

every citizen to find out possible and inexpensive means to

(5) that safe drinking water is available to all.

SubQuestion No : 15

%1 Select the most appropriate option that will fill in
the blank number 5.

Ans  of 1 ensure
#< 2. endorse




& 3. confirm
X 4. assure

Question ID : 9895805217
Chosen Option : 3

%1 Select the correctly spelt word.
Ans 3 1. Buraucracy

/< 2. Bureaucrasy

/< 3. Bureucracy

« 2. Bureaucracy

Question ID : 9895805226
Chosen Option : 1

Q1 Select the synonym of the given word.

MITIGATE
Ans 2 1. Improve
X 2. Excuse
v 3. Lessen
< 4 Moderate

Question ID : 9895805219
Chosen Option : 2

Qél Select the synonym of the given word.

INDUSTRIOUS
Ans X 1. Prompt

X 2. Fruitful
v 3. Diligent
& 4 Practical

Question ID : 9895805218
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
9 substitute it, select No improvement.

The river is flooded and it has overflown its banks.

Ans 1. it overflowing its banks.

& 2. it has overflow its banks.
3. No improvement.

& 4. it overflow its banks.

Question ID : 9895805208
Chosen Option : 1

Q.2




Select the most appropriate option to fill in the blank.

We need not worry about anything  his commitment to the work he is assigned.
Ans - X 1. access

/< 2. accept

/< 3. expect

o 2 except

Question ID : 9895805211
Chosen Option : 4

Q2 Select the antonym of the given word

SERENE
Ans 1. Splendid

2. Superb
3. Showy
v« Stressed

Question ID : 9895805220
Chosen Option : 4

Q2 Select the most appropriate option to fill in the blank.

If an individual keeps his fingers crossed he for the best.

Ans - X 1. reacts
/< 2. suspects

3. hopes

4. responds

Question ID : 9895805210
Chosen Option : 3

2 - .
Q3 Select the correctly spelt word.

Ans - X 1. Mathmetics
& 2. Mathamatics
/< 3. Mathametics
v 4 Mathematics

Question ID : 9895805227
Chosen Option : 4

Q42 Select the most appropriate option to fill in the blank.
Sometimes it is necessary for an author to know what is going on in the minds of his
Ans - X 1. |isteners
X 2. viewers
X 3 audience
v 2 characters




Question ID : 9895805228
Chosen Option : 2

Qéz Select the option that means the same as the given idiom.

To set aside
Ans 1. To move sideways

2. to reject an offer
3. To stop temporarily

& 4. To finish a work

Question ID : 9895805222
Chosen Option : 4

Section : Hindi Language

! Red T Y s % T 39 2reg H TS
7 faearw § & 3= ST 3T

Ans 1 aq.g_\r
2. e
v g

Question ID : 9895805519
Chosen Option : --

Q2 Tt # & 50 fwew 71 T 7Y St T qF ST R F S w A H
Ans X 1 9 g el @ o R & S

2. AT AT 3STAT

3 A FEAdT St

s FE W FF 3

Question ID : 9895805530
Chosen Option : --

*® R T F RS F T 397 g F TS H
gt 93 gl

ANS el
-
2. AT
3 erar
4 ferar




Question ID : 9895805516
Chosen Option : --

Q4 R o g # Y@ifera @ @ sfaeaRa = & R sugsa ey &1 ww w1
79 97 AT et off 99 AY WO TR F FAH F oA

Ans .
T X 1 wot ge w
2. TOT el o
3. TROT BA

4. TIOT Tl T

Question ID : 9895805514
Chosen Option : --

%° R T g ¥ THTTATEY o T AT T

MIE]
Ans | Rl
2. TSTaAT
< 5 FATAT
X 4 TSAT

Question ID : 9895805528
Chosen Option : --

Q'Gmmammﬁmgﬁl
gaer
Ans x1,q|:\q'
2. fAwra
v s AT

R

Question ID : 9895805526
Chosen Option : --

*7 R e A F A AT W FY e W 3R
seaireiet & R ¥ gat & wE & BReR B o1 @ B
AL R @
2. Jeit Y T @
. s &
4 foRaR Frmae 3m W@ &

Question ID : 9895805511
Chosen Option : --




Q8 fedr 3 amry F T o e AR

SO e Fr s=or @
AHSXl.ﬁ g

Question ID : 9895805533
Chosen Option : --

Q° TEr I T oUqSE T TS FL
Ansxl.m

Question ID : 9895805534
Chosen Option : --

G few o awrr @ g s A R S B 3R E

foremrer 3R wer T Fr RAT X W R @
AnSXL Eﬁroﬁw
2 R T &
SR W
4 frewer 3R W

Question ID : 9895805512
Chosen Option : --

% R Te s & O s9ged e F 99 Hi

T[T HST Tt ¢
Ans 1. qﬂ.
2. QeI
5. Qrferd
4 a

Question ID : 9895805517
Chosen Option : --




Qélﬁcmmﬁmiﬁﬁdgaﬁwﬁmﬁamé;mmﬁmmmﬁl
A S 8 F H{ 97 WEUE TahaT g AT

XK 1w 9F @er e
2. WIEAUAaS gl AT
3 HEUTAAIES gl e
4. WEUTAES gl F1fgTl

Question ID : 9895805513
Chosen Option : --

% T I3 T g T T Y
Ans?<l.%3a,rg

Question ID : 9895805535
Chosen Option : --

U Ry T Ty F AT e oeg S

S F5 g A @

Ans 1. m
X 2 g
3. mrg

4 qeT

2

Question ID : 9895805532
Chosen Option : --

U T T weg F TAHATRN Ao FT AT FI

HIEIAr
Ans 1. HTAT
2.
< 3. QMET
-1l

Question ID : 9895805529
Chosen Option : --

Q.1




few s1T e # g s A9 W e w9 e 7
ST Faor RA0T & 7Y, =57 ofr Far F
Ans lq.%%m

2 egq &
- fewToT € 7
. AT B

w

N

Question ID : 9895805510
Chosen Option : --

% Rea T # R F T 39ged oqee F T H

39 ¥ g @

Ans  of 1 FHETH
X 2 FrETA

3 AaTg
4 forame

Question ID : 9895805518
Chosen Option : --

% fw aIT eweg # e\ I
Iead
s X 1. 3
. s
5. gfear
K4 3T

Question ID : 9895805527
Chosen Option : --

Comprehension:




ol searer & e wa=t 1 9fd gz & J=
few 1T WAt F rgER Hw -

HYAT FE Ol TR F (1) # A g g
Tg Tt FF 9ET R SW & el AT AW HrEs s
AET # A S99 gT FoId g1 §5¢ SAHd O I & o
39T (2) TG WHAT § R (3) P
& 9¢ A geedr W 3dT® @ AT | FHell Har g g
ThaT Td T AW $ir g (4) FTET 39T HehaT|
gt (5) ST AET B
SubQuestion No : 19
Qélmﬁrﬁmaﬁwm(ﬂ#%vsqgﬁ
reE BT -
Ans 1 aTeT
< 2. grer

Question ID : 9895805521
Chosen Option : --

Comprehension:

fer=faf@a sezmer & Rea wu=t #r 9fd agzmer & =
T 1T weat & AR AT -

AT THE BIST fHar & (1) & 78 g1 ge<
g Tt Fr ggEe Y 3T & geer g S freEs
AT A gH 9 gC T g1 §Se Afad $S T F e
39T (2) SET T § e (3) Fea
& 98 Y gEeaT W 3dTw @1 S| e Har Fgr g
HehaT T TIT faw $ir se1g (4) FET 39T FehaTl
gt (5) SRR LT gl
SubQuestion No : 20

% ety # Rt Rer e (1) & e s
e g9 -

Ans 1_?3;];"‘
X 2. JrEAT
v 3 TTEER

4. JAT




Question ID : 9895805522
Chosen Option : --

Comprehension:

feafaf@a weamr & Rea wuer & 9fd agzmer & &=
T 1T weat & AR AT -

o EEE B Rl F (1) A FE E g
g Tt Fr ggEe e 3T & geer g S freEs
AT A gH 9 gC T g1 g Afad $S I F e
AT (2) S&oT THAT § R (3) e
& 9g el gEeaT W 3R @ S| FHYeT Her FAgr &
Tehal TF AT &Y $ir Se1g (4) FTEY 39Tl HehaT|
gt __ () sreR T g
SubQuestion No : 21

% are@rer 7 THtad Red T (1) & e sugea
ASE BT -

Ans X1 ETET
X 2 §IER
K3 W

4. AtRer

Question ID : 9895805523
Chosen Option : --

Comprehension:

@ s & e wa=t 1 9fd agzrer & Je=
fow 1T WAt F rgER HfSw -

HIAT TIHT BISaT fhalr & (1) & 7 g1 g<
Tg Tt FF 9EA W SW & ol AT AW HEs s
AT # A S99 gT FoId g1 §5¢ SAiHd 6 I & o
39T (2) S T § e (3) Fery
& 98 AT gEeaT T 3dT® @ ST | e Her F@r g
el Ta TT faw $ir se1g (4) FEY 39T WehaTl
gt (5) sRTeR gt g
SubQuestion No : 22

% Teger # wHfad Red T (1) F @ s9gwa
reE BT -

Ans 1L gy




Question ID : 9895805524
Chosen Option : --

Comprehension:

frafaf@a ez & Rea wu=r #r 9fF gz & a=
fow 1w weat F argER ST -

HYAT TIT BISAT R (1) & 78 g1 g
g Tt FF g w3 & goer offr S fag Y
AET # gH F9d gV Fod g1 §C Aidd $6 9ol & o
39T (2) S ThaT § e (3) e
& FE YA gEeaT I 3aT® @1 S| HIer Har F@r g
HehaT T AT @Y i g (4) FTET 39TT FehaTl
gt (5) SR FLT g
SubQuestion No : 23

% wregrer # wHfad Rea T (1) % fow s
reE g -

S

X 2. AR
X 3 FTT

4 TG

Question ID : 9895805525
Chosen Option : --

Q42 e & & 37 BeT & 997 # S o o ggrey # 3 e e
A %
" X 1dd & FUH oo g fAemrerar

2. HH FH AT
3.a§?raqﬁ$mmam

X 4 FH FH HEAT

Question ID : 9895805531
Chosen Option : --

Qézmmmﬁwmmﬁmm%mmﬁmmmﬁl
o R & 39 99 @ TN, 39 g & F waflRa & 7S
Ans 1 3w gofr &
2. 3eRT IO ¥




X 3FET o @
X e aoh &




Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

Roll No. :

Registration No.

Name :

Exam Venue : iON Digital Zone iDZ Hebbal
Exam Time : 4:00 PM - 5:30 PM

Exam Date : 18/02/2019

Section : General Section

Q1 Which one of the following four-letter clusters does NOT belong to the group?
Ans X 1. NKLM

v SOPQ

X 3 WTUV

X s HEFG

\{UCDL;UII 1. J0J00UOS0Z0
| Chosen Option : 2 |
Q.2 Four numbers have been given out of which three are alike in some manner. while one is different. Choose the odd one.
Ans X173
X2 53
V'3 33
X4 23

Chosen Option : 1

Q.3

Select the option that is related to the third term in the same way as the second term is related to the first term.

Ans Cf}?:fTCSUQS 59

X 2. TNRP
X 3. UOQS
v 2 UQSO
\gucaLiuu 1. JO0IJOOUSOOU
‘ Chosen Option : 4 |

Q.4
Choose the figure from the options that would follow next in the given series.

2 N

Ans




v

52

5 3.

Question ID : 9895803844
Chosen Option : 4

Q.5 Six friends A, B. C. D, E and F are sitting around a round table facing the centre. C is seated between A and B, who is
to the immediate left of D. If C is facing E. who is facing F?

Ans X1 A
F )
Vs
X 4.

H W g

Question ID : 9895803833
Chosen Option : 1

Q6 Pick the odd one out.
Ans X 1. Tondon

« 2. Spain

< 3. Paris

& 4 Rome

Question ID : 9895803827
Chosen Option : 4

Q.7 Ifin a code language, MOTHER is coded as OMHTRE, then THURSDAY would be coded as:
Ans X' 1. HTRUSDAY

v 2. HTRUDSYA

& 3. HTRUSDYA

& 4. UHTDSRYA

Question ID : 9895803831
Chosen Option : 2

Q.8 The numbers in the following set are related in a certain way. Choose the set that is similar to the following set:

4.6,9}

Ans 1 46, 8,12}




X 2 {9.15. 18}
s {12, 14, 18}
4. {6, 12, 24}

Question ID : 9895803842
Chosen Option : 1

Q-9 Select the correct option that will fill in the blank and complete the series.

1,3.8,19,42,
Ans of 189
X277
<3 93
X4 85

Question ID : 9895803838
Chosen Option : 1

le Select the correct option that will fill in the blank and complete the series.

6.9,18,27, .8l
Ans X1 62
v 2 54
X 348
X4 36

Question ID : 9895803839
Chosen Option : 2

Q1 Pick the odd pair out.
Ans  of 1 5-31
< 2 3-23
< 3 12-86
X 4 8-58

Question ID : 9895803840
Chosen Option : 1

Q2-1 If in a code language, MACE = 5 and MASTER = 7, then SOLUTION = ?

Ans XK1 8
<211
X 310
Va9

Question ID : 9895803832
Chosen Option : 4

Q.1




Select the option that is related to the third term in the same way as the second term is related to the first term.

Heart : Veins :: River: ?
Ans 1. Current
X 2. Water
v 3 Tributaries
& 4. Ocean

Question ID : 9895803829
Chosen Option : 1

Q‘-ll Select the correct option that will fill in the blank and complete the series.

pmtz. rkvx, tixv, vgzt,
Ans 1. yerb
X 2 zdew
X 3. Xeyv
v o xebr

Question ID : 9895803825
Chosen Option : 3

Q.1 The statements below are followed by two conclusions labeled I and II. Assuming that the information in the statements
5 s true, even if it appears to be at variance with generally established facts, decide which conclusion(s) logically and
definitely follow(s) from the information given in the statements.

Statements:
1.) All cups are mugs.

2.) All mugs are utensils.

Conclusions:
1. All cups are utensils.

II. Some utensils are cups.
Ans 1. Only conclusion I follows
X 2. Neither conclusion I nor II follows
v 3. Both conclusions I and II follow

4. Only conclusion II follows

Question ID : 9895803836
Chosen Option : 3

Q.1 How would the pattern given on the square transparent sheet marked ‘X" look when the sheet is folded along the dotted
6 line?

Ans ___|

X1 R




v ® i

I —

Question ID : 9895803848
Chosen Option : 4

Q7-1 Which two signs should be interchanged to make the following equation correct?

12+18%x24+6-3=19
Ans  of 1 +and+

X 2 +and x
A3 —and+
X 4 % and +

Question ID : 9895803843
Chosen Option : 3

Q8-1 Choose the figure from the options in which the given figure is embedded.

Ans \\ /
F
e
v /’</
B




S’ S A

K oa

Question ID : 9895803847
Chosen Option : 1

Q.1 Select the figure which when placed in the blank space of the figure marked ‘X’ would complete the pattern.
9

(X)

Ans

X2

Vs

Question ID : 9895803845
Chosen Option : 4

Q.2 Choose the alternative which most closely resembles the mirror image of the given word when mirror is placed at XY
0 line.

—

<R
N2

ah

Ans




Pt

s

o GBrs
v

X

)

WW

X

“
<

Question ID : 9895803846
Chosen Option : 4

Q1-2 TIME is related to CLOCK in the same way as DISTANCE is related to:

Ans X 1. SPACE
& 2. KILOMETRE
& 3. DESTINATION
v 2. ODOMETER

Question ID : 9895803828
Chosen Option : 2

Q.2 Pinky is taller than Priya but shorter than Reena. Riya is taller than Sheela. who is shorter than Priya. Reena is taller
2 than Riya, who is taller than Pinky. Who is the shortest?

Ans of 1 Sheela
2. Priya
3. Riya




X 4. Pinky

Question ID : 9895803835
Chosen Option : 1

Q.2 The statement below is followed by three conclusions labeled I, II and III. You have to assume everything in the
3 statement to be true, and then decide which of the three suggested conclusions logically follows for pursuing.

Statements:
1.) No school is an institution.

2.) All establishments that are not institutions have buildings.

Conclusions:
I.  Schools are not establishments.
II. All schools have buildings.
III. Schools do not have buildings.

Ans 1. Only conclusion III follows

2. Only conclusion II follows

< 3. Either conclusion I or II follow
4. Only conclusion I follows

Question ID : 9895803837
Chosen Option : --

Q.2 P.Q.R. S, TandU are standing in a queue. Q is just ahead of P. S is just behind T. U is NOT near R, who is separated
4 from Q by two persons. Who is standing at the front of the queue?

Ans X1 Q
v 2R
X3 U
XaT

Question ID : 9895803834
Chosen Option : --

Q.2 Which of the following Venn diagrams correctly represents the relationships among the classes:
5

Women, Mothers, Engineers

Ans A




Question ID : 9895803849
Chosen Option : 4

QéZ Who replaced Sachchidananda Sinha as Chairman of the Constituent Assembly of India?

Ans - X 1. Mohandas Karamchand Gandhi
« 2 Dr. Rajendra Prasad

& 3. Sardar Vallabhbhai Patel
< 4. Pt. Jawaharlal Nehru

Question ID : 9895805386
Chosen Option : --

Q7'2 The objective of the 12® 5 Year Plan was

Ans

[uny

- Reducting poverty and exploitation of women

N

. Growth with stability and progressive achievement

w

. Faster and more inclusive growth

IS

- Faster, sustainable and more inclusive growth

Question ID : 9895805393
Chosen Option : 1

Q.2 The Finance Minister of India, in his budget speech announced the launching of the indigenously developed semi high-
8 speed train named as

Ans 1. Vikramsheela Express
/< 2. Veer Jawan Express
3. Vaicom Express

4. Vande Bharat Express

Question ID : 9895805395
Chosen Option : 1

Q.2 Sanjhi, the paper craft is said to have originated in which of the following places of India?
9

Ans X1 Indore
/< 2. Bhubaneshwar
v 3. Mathura
< 4. Coimbatore

Question ID : 9895805390
Chosen Option : --

93 Why is it important to have iodised salt in our diet?
Ans 1. It helps in smooth functioning of the thyroid gland
< 2 It helps in building bones




3. It improves eyesight

4. It helps in gaining height

Question ID : 9895805405
Chosen Option : 1

Ql'3 Fundamental duties were incorporated in the Indian Constitution by:

Ans - X 1. 25th Amendment
& 2. 56th Amendment
v 2 42nd Amendment
& 4. 14th Amendment

Question ID : 9895805398
Chosen Option : 4

Q2-3 Who played a decisive role is the integration of the princely states of India?

Ans 1. TT Krishnamurthy

v 2. Sardar Vallabhbhai Patel
< 3. Motilal Nehru
X 4. APJ Abdul Kalam

Question ID : 9895805396
Chosen Option : 2

Q.3 The Right to Property was deleted from the list of Fundamental Rights by which of the Amendment of Indian
3 Constitution?

Ans - X1 415 Amendment
2. 4274 Amendment
3. 44 Amendment
4. 43" Amendment

Question ID : 9895805397
Chosen Option : 2

Qf Milk becomes sour if kept outside the refrigerator in summers because of:

Ans 1. the calcium present in it

& 2. its colour
3. the conversion of lactose sugar to lactic acid

4. the breakdown of proteins

Question ID : 9895805407
Chosen Option : 3

%3 Where is the Konark Sun Temple situated?

Ans 1. Tirupati

v 2. Odisha
&< 3. Madurai




& 4. Kedarnath

Question ID : 9895805392
Chosen Option : 2

%3 Who called dams as the *Temples of Modern India’?

Ans  of 1 Pt. Jawaharlal Nehru

# 2. Sardar Vallabhbhai Patel

< 3. T Krishnanchari

< 4. Mohandas Karamchand Gandhi

Question ID : 9895805403
Chosen Option : 3

Q7'3 ‘Moonwalk’, the famous dance move, is associated with:
Ans 1. Misha Bryan

X 2. Fred Astaire
v 3. Michael Jackson
& 4. Adele

Question ID : 9895805391
Chosen Option : 3

Qé3 Which is the first Indian state to start rooftop rainwater harvesting?

Ans of 1. Tamil Nadu
& 2. Kerala
3. Rajasthan

< 4. Assam

Question ID : 9895805404
Chosen Option : 2

%3 Which of the following is not a Greenhouse gas?

Ans - X 1. Carbon Dioxide
< 2. Nitrous Oxide
< 3. Methane
« 2 Argon

Question ID : 9895805406
Chosen Option : 3

%4 Name the acid present in tamarind.
Ans - X1 Amino acid

< 2. Citric acid

v 3. Tartaric acid

# 4. Lactic acid

Question ID : 9895805408




l Chosen Option : 4 J

Q.4 Who was the first Indian woman player to reach the Olympics badminton singles quarterfinals?
1

Ans X1 PV Sindhu
v 2. Saina Nehwal
< 3. Ashwini P
/< 4. Aparna Popat

Question ID : 9895805388
Chosen Option : 2

%* The movement was led by Muhammad Ali and Shaukat Ali.
Ans 1. Sultaniya Movement
2. Deoband Movement

X 3. Badshahi Movement
v 4 Khilafat Movement

Question ID : 9895805399
Chosen Option : 4

Qs'f‘ Name the place where the Olympic Games originated?

Ans X 1. T atvia
< 2. Aden
v 3. Greece
4. Baghdad

Question ID : 9895805387
Chosen Option : 3

Q‘f As per the interim Budget 2019, the 2204 ATIMS is proposed to come up in

Ans X 1. Assam
« 2. Haryana
< 3. Tharkhand
< 4. Maharashtra

Question ID : 9895805394
Chosen Option : 4

Q5'4 Acidity in stomach after overeating can be remedied by consuming:
Ans 1. lemon juice

2. vegetables

3. fruit juice

4. baking soda

Chosen Option : 1

7

[ Question ID : 9895805389 ]




6 The Lahore session of the Indian National Congress declared to celebrate 26th January as the Independence day in the
as X 11920
V2. 1930
X 3. 1942
X 41935

Question ID : 9895805400
Chosen Option : 3

Q7-4 Who amongst the following founded the Bharatiya Jana Sangh (BJS) in 1977?

Ans

[E=N

. Deen Dayal Upadhyaya
. Vinayak Savarkar
. Ashutosh Mukherjee

N

w

N

- Shyama Prasad Mukherjee

Question ID : 9895805384
Chosen Option : 2

Qé4 Robben Island, the world heritage site is associated to which of the following figures?

Ans 1. John F. Kennedy
2. Jimmy Carter

& 3. Winston Churchill
v 4 Nelson Mandela

Question ID : 9895805385
Chosen Option : 1

Qé“ Which of the following soils is found in the northern plains of India?

Ans X 1. Black soil
< 2. Arid soil
v 3. Alluvial soil
< 4. Laterite soil

Question ID : 9895805402
Chosen Option : 3

Q.5 The Simon Commission which was sent by the British Government was boycotted because:
0

Ans 1. It gave special powers to the Princely states.

N

. There were differences amongst the members.

w

. The Commission did not have any Indian member.

~

. The Commission curbed financial independence of India.

Question ID : 9895805401
Chosen Option : 1

Q.5 The area of a triangular park is equal to 5v/3 times the area of a triangular field with sides 18 m, 80 m and 82 m.
1

‘What is the side of the triangular park?




Ans X 1.100 m
&< 2125m
v 3120m
X 4.140m

Question ID : 9895805705
Chosen Option : --

Q.5 Two numbers are in the ratio 5 : 6. If 16 is subtracted from each. the numbers will be in the ratio 3 : 4. If § is added to
2  the first number and 3 is subtracted from the second. then they will be in the ratio:

Ans X' 1.15:16
X213:14
K314:13
v 16:15

Question ID : 9895805699
Chosen Option : 3

Q.5 Suman sold an article for 882 after allowing 16% discount on its marked price. Had she not allowed any discount, she
3 would have gained 20% on the cost price. What is the cost price of the article?

Ans  of 1. 875
X 2. 750
< 3 850
X4 725

Question ID : 9895805695
Chosen Option : --

Q.5 The curved surface area of a right circular cylinder of height 28 ¢cm is 176 cm? . The volume (in cm3) of cylinder is
(Take T = ?)

Ans X' 1.176
X 2. 66
X 3110
v 88

Question ID : 9895805706
Chosen Option : --

Q.5 A person covered a distance of 250 km at a certain speed. If his speed is 20% less, he would have covered the same

distance in 1% hours less time. His speed (in km/hr), initially was:

Ans (1, 50
2. 472
2
3 5221
2
X 4 45

Question ID : 9895805709
Chosen Option : 2

Q5




Study the following table and answer questions:

Number of students studying in five schools of a city

Schools | No of Students | Ratio of boys and
girls Boys : Girls

A 680 9:8

B 720 4:5

(& 540 5:13

D 660 247

E 900 13: 12

The total number of gitls in schools B and C is what percent less than the total number of boys in schools A and D?

Ans of 1.1.25
X 21125
X34
<410

Question ID : 9895805714
Chosen Option : 2

Q.5 Working together, A, B and C can complete a work in 36 days. If the efficiency of A, Band Care in theratio 5:6: 9,
7 then B alone will complete the same work in:

Ans 1. 90 days
2. 100 days
3. 60 days
4. 120 days

Question ID : 9895805710
Chosen Option : 1

Q.5 The compound interest on a certain sum at a certain rate percent per annum for the second year and the third year are
8 3300 and T3630, respectively. The sum is:

Ans X 125000
< 2. 32000
v 3 330000
< 4. 28400

Question ID : 9895805703
Chosen Option : 1

Q.5 A boat can cover 36 km downstream and 16 km upstream in 10 hours. It can cover 3 km downstream and 1.2 km
O upstream in 48 minutes. What is the speed (in km/hr) of the boat when going upstream?

Ans X1 2
v
X325
X435

Question ID : 9895805708
Chosen Option : 1

Q.6 Let x be the greatest number such that when 12085, 16914 and 13841 are divided by it, the remainder in each case is
0 same. The sum of digits of x is:

Ans X113
X219
V316
X 414




Question ID : 9895805690
Chosen Option : 1

Q.6 The average weight of a certain number of persons in a group was 75.5 kg. Later on. 4 persons weighing 72.6 kg. 74 kg,
1 73.4kgand 70 kg joined the group. As a result, the average weight of all persons in the group reduced by 500g. The
number of persons in the group, initially, was:

Ans X 1. 24
X216
X318
v 4 20

Question ID : 9895805693
Chosen Option : 1

%? The value of [0.08 + 1.2 0f (3.4 — 2.6) X 0.8 0f 3.2] of — lies between :

Ans - X'1.0.09 and 0.11
V2 0.11 and 0.13
/3. 0.07 and 0.09
K 4.0.13t00.15

Question ID : 9895805692
Chosen Option : 1

Q.6 The simple interest on a certain sum in 5% years at 6% p.a. is T2541. What will be the amount of the same sum in 52

years at 82 % p.a.?

Ans X1 12153
v 2 11253
~< 3 T13125
X 4 T11235

Question ID : 9895805702
Chosen Option : 1

QA;G Study the following table and answer questions:

Number of students studying in five schools of a city

Schools | No of Students | Ratio of boys and
girls Boys : Girls

A 680 9:8

B 720 4:5

(& 540 513

D 660 231

E 900 13: 12

The ratio of the number of boys in school A to the number of girls in school E is:
Ans X1 3:4
X2 5:12
X3 8:13
vi5:6

Question ID : 9895805712
Chosen Option : 1




Q.6 The average of 41 numbers is 63. The average of first 21 number is 61.5 and that of last 21 numbers is 65.5. if 21
5  number is excluded then the average of remaining numbers is:

Ans X1 62.5
X 2. 63.575
<3 635
v 4 62475

Question ID : 9895805694
Chosen Option : 3

Q.6 A sum 0f %4107 is divided between A, B, C and D such that the ratio of shares of A and B is 3 :4, that of Band C is 2 :
6 1andthat of C and Dis 3 : 5. The share of B is:

Ans X1 %1443
v 2 F1332
< 3 %1003
X 4 F1223

Question ID : 9895805700
Chosen Option : 4

Q.6 A sold an article to B at 25% profit. B sold it to C at a profit of 10% and C sold it to D at 40% loss. If D bought it for
7  46.20, then the difference between the profits of A and B is:

Ans X1 Z8.50
~< 2 315
<3 36
vz

Question ID : 9895805696
Chosen Option : 2

Q.6 Two solutions of acid and water containing acid and water in the ratio 2 : 7 and 4 : 5, respectively are mixed in the ratio
8 2:5.What is the ratio of acid and water in the resulting solution?

Ans X1 8:17
V2 8:13
<321
Ka3:7

Question ID : 9895805701
Chosen Option : 2

Q.6 A person sells a watch at a profit of 26%. If he had bought it at 20% less and sold for T81.60 less, he would have gained
O  32%. What is the original cost price (in %) of the watch?

Ans of 1400
& 2450
& 3360
X 4480
Question ID : 9895805697
Chosen Option : 2
Q.7 2 1 i
0 1-+[16-11—(3-+5
The value of -2 [1 L {1139( o )}] is:
aof 235 x4




Ans 2

Question ID : 9895805691
Chosen Option : 1

Q7 What is the mean of the range, median and mode of the data:

253 3,852 00,45 5,24 22 153,352 5
Ans xl- 4

X 23l
3

2

3. 2=

3

1

4. 4=

2

Question ID : 9895805704
Chosen Option : 3
Q2'7 When 32% of a number X was added to another number y , then y increases by 24%. The value of % is:

Ans K13
v 2
K31
K48

Question ID : 9895805698
Chosen Option : 1

Q.7 Ifthe radius of a sphere is decreased by 25%, then the percentage decrease in its surface area is:
3

Ans of 1.43.75
& 2. 37.50
<3 40
X 4 42

Question ID : 9895805707
Chosen Option : 3

Q.7 Two pipes A and B can fill a tank in 12 minutes and 15 minutes, respectively. When an outlet pipe C is also opened,
4  then the three pipes together can fill the tank in 10 minutes. In how many minutes can C alone empty the full tank?

Ans of 1. 20
X2 24
X316
X418




Question ID : 9895805711
Chosen Option : 1

e ————————————— R — — —
Q5-7 Study the following table and answer questions:

Number of students studying in five schools of a city

Schools | No of Students | Ratio of boys and
girls Boys : Girls

A 680 9:8

B 720 4:5

(& 540 513

D 660 251

E 900 13012

In how many schools. the number of girls is more than the average number of boys per school?
Ans x 1. 4
X 21
X3 2
V3

Question ID : 9895805713

Chosen Option : --
Section : English Language
Q.1 Select the most appropriate option to fill in the blank.
Scientists tried to find out the behind the occurrence of the phenomenon.

Ans - X 1. jllustration

2. interpretation

& 3. clarification
« 2. cause

Question ID : 9895805237
Chosen Option : 3

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
substitute it, select No improvement.

The Indian forces are known for their bravery.
Ans X 1. force are known for
& 2. forces is known for
3. No improvement

X 4. forces are known of

Question ID : 9895805233
Chosen Option : 3

Q.3 From the given options, identify the segment in the sentence which contains the grammatical error.
Dr. Rana is our teacher of English since this semester.
Ans - X 1. this semester.
/2. Dr. Rana is
# 3. our teacher
4. of English since




Question ID : 9895805232
Chosen Option : 1

Q4 Select the synonym of the given word.

NOMADIC
Ans X 1. Brave
2. Roving
< 3 Wild
< 4 Barbaric

Question ID : 9895805244
Chosen Option : 3

Q.5 From the given options, identify the segment in the sentence which contains the grammatical error.

Nowadays spectacles are costly than they used to be.

Ans 1. costly than

2. Nowadays

w

. they used to be.

E

spectacles are

Question ID : 9895805231
Chosen Option : 4

@6 Select the most appropriate word to fill in the blank.

Dinosaurs are an species now.
Ans X 1. age-old
v 2. extinet
3. antique

#< 4. ancient

Question ID : 9895805255
Chosen Option : 4

Q7 Select the antonym of the given word.

LATENT

Ans 1. Forbidding
X 2. Artificial
< 3. Hidden
v 4. Obvious

Question ID : 9895805246
Chosen Option : 1

@8 Select the synonym of the given word.

HANDY




Ans 5, Funny

X 2. Nice

v 3 Convenient
/< 4. Easy

Question ID : 9895805245
Chosen Option : 1

Q9 Select the correctly spelt word.
Ans - X 1. Acommodate

&< 2. Accommadate

V'3 Accommodate

&< 4. Accomodate

Question ID : 9895805253
Chosen Option : --

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

We should offer due respects to all elderly persons.

Ans 1. offer due respects for

2. No improvement

w

- offer due respect to

N

. offers due respects to

Question ID : 9895805234
Chosen Option : 2

Ql'l Select the word which means the same as the group of words given.

Something which gets broken easily
Ans - X1 Weak
X 2. Soft
X 3. Feeble
4. Fragile

Question ID : 9895805251
Chosen Option : 1

O Select the most appropriate option to fill in the blank.

The baby bird was by its mother.

Ans X 1. thrown
# 2. renounced
X 3. sacrificed
'+ abandoned

Question ID : 9895805236
Chosen Option : 2




Q3-1 Select the option that means the same as the given idiom.

A stone’s throw away
Ans of 1. Ata short distance
2. Very far off

& 3. At aremote location
4. Many miles away

Question ID : 9895805248
Chosen Option : 1

Q1 Select the antonym of the given word.

MALEVOLENT

Ans - X 1. Well-mannered
< 2. Positive

¥ 2 Kind

< 4 Cruel

Question ID : 9895805247
Chosen Option : 4

Q.1 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
5 substitute it, select No improvement.

Regular exercise lead to fitness of the body.

- will leads to fitness of the body

Ans

[N

N

. leads to fitness of the body

3. No improvement

~

. leading to fitness of the body

Question ID : 9895805235
Chosen Option : 3

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
We must visit this ancient temple which are a hundred years old.
Ans 1. this ancient temple
2. a hundred years old.

« 3. which are
& 4. We must visit

Question ID : 9895805230
Chosen Option : 2

Comprehension:




In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The neglect of one half of mankind costs the world a great deal both,

in economic and social (1) . A family (2) an educated

mother is, in most cases, a poorer family than one in which everyone

is educated and can (3) a living. A family with an uneducated

mother may (4) in other ways too, because the mother is (5)
to help the children in their education.

SubQuestion No : 17

Q1 Select the most appropriate option that will fill in
the blank number I.

Ans X' 1. areas
X 2. values
v 3 terms
7< 4. aspects

Question ID : 9895805239
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The neglect of one half of mankind costs the world a great deal both,

in economic and social (1) . A family (2) an educated

mother is, in most cases, a poorer family than one in which everyone

is educated and can (3) a living. A family with an uneducated

mother may (4) in other ways too, because the mother is (5)
to help the children in their education.

SubQuestion No : 18

Qél Select the most appropriate option that will fill in
the blank number 2.

Ans XK1 of
v 2. without
#< 3. including

< 4 with

Question ID : 9895805240
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The neglect of one half of mankind costs the world a great deal both,

in economic and social (1) . A family (2) an educated

mother is, in most cases, a poorer family than one in which everyone

is educated and can (3) a living. A family with an uneducated

mother may (4) in other ways too, because the mother is (5)
to help the children in their education.




SubQuestion No : 19

% Select the most appropriate option that will fill in
the blank number 3.

Ans X 1. create
/< 2. manage

3. plan

4 earn

Question ID : 9895805241
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The neglect of one half of mankind costs the world a great deal both,

in economic and social (1) . A family (2) an educated

mother is, in most cases, a poorer family than one in which everyone

is educated and can (3) a living. A family with an uneducated

mother may (4) in other ways too, because the mother is (5)
to help the children in their education.

SubQuestion No : 20

%2 Select the most appropriate option that will fill in
the blank number 4.

Ans - X 1. destroy
7< 2. prosper
X 3. fail

v 4. suffer

Question ID : 9895805242
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill in the
blanks with the help of the alternatives given.

The neglect of one half of mankind costs the world a great deal both,

in economic and social (1) . A family (2) an educated

mother is, in most cases, a poorer family than one in which everyone

is educated and can (3) a living. A family with an uneducated

mother may (4) in other ways too, because the mother is (5)
to help the children in their education.

SubQuestion No : 21

Q2 Select the most appropriate option that will fill in
the blank number 5.

Ans of 1 unable
2. eligible

3. qualified
< 4 able




Question ID : 9895805243
Chosen Option : --

%2 Select the word which means the same as the group of words given.

One who speaks many languages
Ans 1. Multilingual

2. Monolingual

3. Linguist

N

. Bilingual

Question ID : 9895805250

Chosen Option : --
QéZ Select the most appropriate word to fill in the blank.
Apart from cows, buffaloes are also for mass milk production for humans.
Ans of 1 reared
2. produced

3. developed
X 4 grown

Question ID : 9895805254
Chosen Option : 2

Q2 Select the correctly spelt word.
Ans 1. Exeggeration

2. Exaggeration

3. Exaggaration

4. Exageration

Question ID : 9895805252
Chosen Option : 4

%2 Select the option that means the same as the given idiom.

The grass is greener on the other side
Ans 1. Only green grass grows well
2. Things appear better for others

3. Green grass grows everywhere

~

. Many things looks like green grass

Question ID : 9895805249
Chosen Option : 3

Section : Hindi Language

Q.1




e 1w ereg & felw I

AT
Ans T

2

2 TR
3. FHSEYT
. TqGT

e

Question ID : 9895805553
Chosen Option : --

Q2 fr av aw F Wwifda @5 @ saraia &= & v suged ReeT &1 99w w3
TR TE gHH A TFER F TS ¢, Red &9 G|
Ans 7 F_I,WFITQEFIT
zwm
s qe T
. g S

Question ID : 9895805541
Chosen Option : --

*® Nod T B R F T s9gE Uqe F TS A
pCr TS|

Ans X1 TSI
2. anferat

3. gferar
X 4 M

Question ID : 9895805545
Chosen Option : --

4 7 T e F TATATE AT F AT FI

TS
X 2 A
3. 9T

. e

Ans

Question ID : 9895805554
Chosen Option : --

0% gy IIT I AT FT TTT FT




Ans of 1 FeaTH
X 2. FAATU
X 3. AT

Question ID : 9895805561
Chosen Option : --

°° U T g F AT T
ARG

Ans X1 TS
v o ose

: TERE
« forper

Question ID : 9895805552
Chosen Option : --

7 ¥ T TR F AT T o S
S FH Soar @
Ans - X1 TSl
2. fArqsmdr
3. 7k

o fAgegar

Question ID : 9895805558
Chosen Option : --

*° T aTT A F g AT A R w3

Fofr 7 F =W FeeEN & g TH AT 33T e
AL W eEER &
2. HTETS 33TAT Brem|
3 g &
v il T Felr

Question ID : 9895805538
Chosen Option : --

Q% RT T ofee F YHUARET oeT FT TUT FL




Question ID : 9895805555
Chosen Option : --

leﬁmﬁf%aﬁ@mﬁmﬂma#sﬁ'mﬁrm&mgmﬁﬂﬁmm%l

L od wfEa
2. foeraardy safda
» feTeRfga safaa
4 BUXT I T I FIA TN Shfkd

Question ID : 9895805556
Chosen Option : --

% Rea e e F O suged we F T

Question ID : 9895805544
Chosen Option : --

% R AT A @ ag aer A Y S w3 d
wfesrat saet 7 § & 3 wled gu Tmew F W= 95 W g
AL e gger @ R
> gfesat gaa 7eam § &
3. IMEFH I
« 378 TEd g

Question ID : 9895805537
Chosen Option : --

% mEr I I o W TS FL
Ans Lm




Question ID : 9895805560
Chosen Option : --

% Rea e # R F T 3uged e F 9T F

s & 98T |
Ans 1. ﬁ-qT
v 2 @rar
3. grem
4 grar

Question ID : 9895805543
Chosen Option : --

Qslmmmﬁmmmﬁmmimmﬁmmmﬁl
oo 5w avg #1 smaeTwar § 38 a5g g9 79 & o
" K wE weg g A g &
2 3§ T IH W & &
3 30 IE] IH [qH < &l
4. agaﬁgwmﬂaaml

Question ID : 9895805540
Chosen Option : --

Ol fPrafafea # # 57 Rees 71 997 # S &1 T J gt 7 3 7 w4 B
as o 1 aEE ST

2. A & FTe

3. qYRATA g ST

4. b BT SATAT

Question ID : 9895805557
Chosen Option : --

Qf%vmmﬁt@iﬁmdgaﬁﬁ%@nﬁama:ﬁvsqgwﬁwqmmﬁl
frersat et o a1q ex_Ten )

A uT e T
2 TR =l AT
3 WX AT =A|
4 | =l I
Question ID : 9895805539
Chosen Option : --
Q.1




Rea Tue &t e F O 3ugsa A &1 999 H{

=T B | @ B
Ans 1. 9T
2. |
3. @Y
-

Question ID : 9895805542
Chosen Option : --

Comprehension:
fe=fof@a sz & Rea wu=t #r i aearer & =
T 1w gedt & gEn Ao -

T & s & 9 S WYRT S I (g™
Ig A SgA YT (2) &1 TIA g, YT TA-
IS H FHAa wa O Al sEEe & IR H aEe
dlaega Q) FdRAzm@Em i _ (4
& 781, 7F gy-afarat ae @ (5) #r INT FA H
WeTH §| AT WATER @ & HRoT 3R o 31w
amsTfead gar 2
SubQuestion No : 19

% areErer 7 Whtad Red T (1) & e sugwa
UASE BT -

ans o 1 AT

2 e

< 3. FTerT
X< 4 I

Question ID : 9895805547
Chosen Option : --

Comprehension:




feafaf@a sy & Rea wu=t #r 9fS ae@rer & =
T 1T WAt F gER AT -

0T & s & 9 S WYRoT f g Mg ™
TE AA gl 3aT (2) T WIS §, 37UET HToA-
TS # Haae TF O HfE SEEE & IR H aEC
g1 FEg: (3) ¥ 3 st 3wer ¥ W@ (4)
& 7E, Hq& Te-ufaat g% (5) & INT A F
TETH g1 HST THSER g & HROT 3N off 3ifeh
arsTfead 2rar 2
SubQuestion No : 20
% gty # wHfad Rea T (2) % o s
AeE BT -
Ans L ey
2. FARTT
3. T

4 T

Question ID : 9895805548
Chosen Option : --

Comprehension:
fe=fof@a seamy & Rea wa=t #r i agarer & =
w1 gedt & sgEr Hfow -

NG & SR H I ST WUROT $H T Mg ™
Ig A Sgalld 37ar (2) T T g, UST TA-
TS # HAa TF O HfG SEEE & IR H aEC
flarge Q) FIRArzmemdiaw_ (4)
& 721, 7F gy-afarat ae @ (5) # 9T F&= H
HeTH gl ATT WATER gt & HROT 3R off 1M
rsTfead grar 2
SubQuestion No : 21

% ey # Fafaa Red T (3) & e 3ugea
ASS BT -

ans X 1 G

3.W




Question ID : 9895805549
Chosen Option : --

Comprehension:
feafof@a seamyr & Rea wu=t #r 9f agarer & =
o 1 yedt & sgEr Ao -

ThT & I & 9. S TR Y g Mg
Ig A Sgallal 3720ar (2) T TS g, FUST -
TS H Hade TF O HIfG FE & AURTH H aEGC
g1 aEg: (3) % 3R ofr 3T &) =g (4)
& 72, 7F gy-afarat g @ (5) # G F= H
HeTH gl AT FATER gt & HROT 3R off 1Mo
Smsnfead gar 2
SubQuestion No : 22

% wearer # wHfaa Rea T (4) F Rw segE
Qe g -

Ans 1-@

2. HUTT

v 5 3TRTT
< 2 gy

Question ID : 9895805550
Chosen Option : --

Comprehension:
feafof@a seamy & Rea wu=t #r 9f aearer & =
T 71w wedt & A Hfow -

T F I F T ST HUROT &7 Tg ME™
Ug A Sgllar 37UaT (2) FT TS g, FUAT TAA-
T H HAde T O e s & qURT Hr T ge
g1 IEga: (3) & 3T s 3wAer & T (4)
& 7E, HqF Te-afarat g% (5) r AT FA A
WeTH gl AT WATER 2t & HRoT 3R o 31fow
amanfzaa 2ar 2
SubQuestion No : 23
Qs'zwhrﬁﬁﬁaﬁa—?rwm(&#%csqgw
rec g -
as X 1 TG
< 2. groT




Question ID : 9895805551
Chosen Option : --

% R T T F AT T e A

St @9 F S &

Ans 1. m
. Fhw

e
X 4 oTe

Question ID : 9895805559
Chosen Option : --

—
Qszﬁwmmwagmmaﬁmﬁaﬂég‘%%l

T S A 2 E 3 g ¥ g o
M T e B e

2 IS W

s 3fE a2l

4 Gear H

Question ID : 9895805536
Chosen Option : --




